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SSC GD Notification 2024: Overview

SSC has announced 26146 SSC GD Vacancy 2023-24 for Constable posts for BSF, CISF, CRPF, SSB, ITBP, AR, SSF, NIA
forces through an SSC GD Notification. Here is a brief provided about the SSC GD Constable 2024 in the below table.

SSC GD 2024 Notification: Overview

Organization Staff Selection Commission (SSC)

Post Name Constables (GD) in Central Armed Police Forces (CAPFs), SSF and Rifleman (GD) in
Assam Rifles (AR) and Sepoy in Narcotics Control Bureau

SSC GD Vacancy 2024 26146

Category Govt Jobs

Online Application Mode Online

Exam Mode Online

Exam Type National Level Exam

SSC GD Notification 2024
Release Date

24 November 2023

Online Registration Dates

24 November 2023 to 31 December 2023

SSC GD Exam Date 2024

20th, 21st, 22nd, 23rd, 24th, 26th, 27th, 28th, 29th, February and 1st, 5th, 6th, 7th,
11th, 12th March, 2024 [NEW]

Job Location PAN India
Age Limit 18-23 years
Educational Qualification 10th Pass
e CBT
e PST
Selection P
election Process e PET

e Medical Examination

Official Website

www.ssc.nic.in

SSC GD Notification 2024: Eligibility Criteria

All the important eligibility criteria including age limit and educational qualification are provided in this article.

SSC GD Constable Nationality

e C(Candidates willing to apply for the vacancies released under SSC GD Recruitment 2024 must be a resident of

India.
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SSC GD Constable Education Qualification

e To be eligible for the SSC GD Constable Recruitment 2024, candidates must ensure they have cleared
matriculation or 10th class from a recognized Board/ University before applying for the General Duty
Examination.

SSC GD Constable Age Limit

e The age of the applicant must not be less than 18 years and should not be more than 23 years.
e The crucial date to calculate the age limitis 01/01/2024.

Age Relaxation

The relaxation in Age Limit will also be given to the candidates of backward categories according to government
rules and regulations which is 3 years for the candidates of the OBC category and 5 years for the applicants of SC/ST
Categories.

SSC GD Previous Year Cut Off
SSC GD Constable Cut Off 2022 (Candidates qualified against All India vacancies of Sepoy in NCB)

SSC GD Constable Cut Off 2022 (Male candidates qualified against All-

India vacancies of SSF)

Category | Cut Off Marks | Part A Marks | Part B Marks | DOB

EWS 136.75 36 23 11/07/2003
SC 127.33 38 16 02/02/2004
ST 123.04 35 27.5 02/12/1994
ESM 71.83 24.5 45 24/06/1986
OBC 137.64 36 22 20/03/1998
UR 139.32 38 26 28/12/1999

SSC GD Constable Cut Off 2022 (Female candidates qualified against All-India vacancies of SSF)

Category | Cut Off Marks | Part A Marks | Part BMarks | DOB

EWS 128.41 33.5 20 15/07/2002
sC 115.25 37.5 18 15/08/2000
ST 112.13 34 3.5 07/01/2002
OBC 130.78 37.5 12 16/05/2003
UR 132.70 36 19 06/05/2000

SSC GD

Category | Cut Off Marks | Part A Marks | Part BMarks | DOB G AR u DA B ATc H
EWS 139.16 38 23.5 20/04/2003
SC 129.75 335 19.5 01/03/2002
ST 126.45 26.5 26 15/05/1998
ESM 75.01 26 16 06/01/1974
OBC 140.75 37.5 13.5 05/11/2000
UR 142.03 40 14.5 02/10/2004
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SSC GD Vacancy Trend

Year No. Of Vacancy
2023-24 26146
2022 50187
2021 25271
2020 60210
2019 54593

SSC GD 2024 Application Fees

Category Application Fee
General Male Rs. 100
Female/SC/ST/Ex-serviceman No Fee

SSC GD 2024 Selection Process

The SSC GD Constable selection process consists of four different stages. The candidates who qualify in all the stages
of the examination will have to appear for document verification.

1. Computer Based Test (CBT)

2. Physical Standard Test (PST)

3. Physical Efficiency Test (PET)

4. Medical Test

SSC GD 2024 Exam Pattern

e Each question will carry 2 marks
e There will be a negative marking of 0.25 marks for each wrong answer

Parts Name of Disciplines Questions | Marks | Duration
Part-A General Intelligence and reasoning 20 40
Part-B | General Awareness and General Knowledge 20 40
60 minutes
Part-C Elementary Mathematics 20 40
Part-D English/Hindi 20 40
Total 80 160

SSC GD Constable Physical Efficiency Test Exam Pattern

Candidates have to clear the race within the following time limits:-

Male Female Category
5 km in 24 min 1.6 km in 8%2 min For candidates other than those belonging to the Ladakh region
1.6 km in 6% min 800 m in 4 min For candidates of the Ladakh region
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SSC GD Constable Physical Standard Test Exam Pattern

Standard For Male Candidates | For Female Candidates
Height ( General, SC & OBC) 170 157
Height (ST) 162.5 150
Chest Expansion (General, SC & OBC) 80/5 N/A
Chest Expansion ( ST) 76 /5 N/A

SSC GD 2024 Syllabus

SSC GD Constable Paper comprises four Sections/Subjects that are mentioned below: Check complete SSC GD
Syllabus here.

e General Intelligence and Reasoning

e General Knowledge and General Awareness

e Elementary Mathematics

e English/ Hindi

The SSC GD syllabus contains Computer Based Examination which includes an objective-type paper carrying 160
marks for 80 questions.

SSC GD Syllabus For General Intelligence & Reasoning

This General Intelligence section consists of both verbal and non-verbal types of reasoning questions. This test
particularly includes questions that test the candidate’s analytical and logical reasoning skills and his/ her ability to
observe and distinguish patterns. The topics included in the syllabus are as follows:

e Reasoning Analogies

Arithmetic Number Series

Arithmetical Reasoning

Coding-Decoding

Discrimination

Figural Classification

Non-verbal Series

Observation

Relationship Concepts - Blood Relations

Similarities and Differences

Spatial Orientation

Spatial Visualization

Visual Memory

SSC GD Syllabus For General Knowledge and General Awareness
This section depends on current news affairs and some general knowledge.
These questions do not require the candidate to have special knowledge of
any particular discipline. The questions in this component revolve around
matters of everyday observations and test the candidate’s knowledge of the

ENGLISH

environment around him/ her and topics related to India and its

neighboring countries such as: SSC 2023'24
e Culture

e Economic Scene SSC G D

e General Polity

e Geography TOPIC WISE + MOCK TESTS

« History COMPLETE PACK
e Indian Constitution

e Scientific Research 360 + TOTAL TESTS

e Sports
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SSC GD Syllabus For Elementary Mathematics
This section is based on high-school-level mathematical problems. According to the SSC GD syllabus, the following
topics are:

e Averages

e Computation of Whole Numbers

e Decimals and Fractions

e Discount

e Fundamental Arithmetical Operations

e Interest

e Mensuration

e Number Systems

o Percentages

e Profit and Loss

e Ratio and Proportion

e Ratio and Time

e Relationship between Numbers

e Time and Distance

e Time and Work

SSC GD Syllabus For English/ Hindi
This is to check the basic knowledge of candidates in Hindi or English. The syllabus is as follows:
e Error Spotting

e Fill in the Blanks: Articles, Prepositions, etc.
e Phrase replacements

e C(loze test

e Synonyms & Antonyms

e Phrase and idioms meaning

¢ One Word Substitution

e Spellings

e Reading comprehension

SSC GD 2024 Salary

Pay Level SSC GD Salary
Level-3 Rs. 21,799 to 69,100

SSC GD Notification 2024: Job Profile

The duties and responsibilities of this post are also higher. Let us go through BILINGUAL
the job profiles for the SSC GD Constable.
¢ GD Constable in BSF

e GD Constable in ITBP S S C

e GD Constable in CISF

e GD Constable in SSB

e GD Constable in CRPF P R I M E

e GD Constable in Assam Rifles

e GD Constable in SSF m
CGL | CHSL | GD | MTS

1000+ TOTAL TESTS
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Addai247

Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number

I[Candidate Name |

[Venue Name (Cds Infotech

[Exam Date 10/01/2023

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2022

Q.1 Select the correct mirror image of the given figure when the mirror is placed at MM

as shown below.

CLkv38:z

e x CTKAE 8BS
x> CFYA38S
vCIFKA38S
x+s8EvAID

Question 10 - 26433080804
Status - Answered
Chosen Option : 3




Q.2 Which figure should replace the question mark (?) if the series were to be

continued?

fo28Alo28aAatuo2[fuo2a| P

x.lA20U P

2 Zﬂﬁ’r‘U

xa|2AOPDU

x+|A2FU

Question 1D - 26433076637
Status - Answered
Chosen Option : 2

Q.3 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

YOUR: XPEJ :: TONE: SPLW :: BANK: 7

Ans X 1.XYOP
X 2. CBOL
" 3. ABLO
7 4. ¥ZMP

Question 1D - 26433057494
Status | Answered
Chosen Oplion : 3




Q.4 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.
COMFORT : OCFMTRO :: CONTROL : OCTNLOR :: DIGITAL : ?

Ans o 1. IDIGLAT
X 2. GITALDI
X 3. GIDLAT

2 4. LATIGID

Question 1D : 26433069633
Status | Answered
Chosen Option : 1

Q.5 In a certain code language, ‘cart light' is coded as ‘straw handle’, ‘plug light’ is coded
as ‘toes handle', and ‘cart plug' is coded as ‘toes straw’. What is the code word for

‘cart"?
Ans X 1. plug
o 2. straw
25 3. handle

25 4. toes

Question 1D : 26433079367
Status | Answered
Chosen Option ; 2

Q.6 Which of the following numbers will replace the question mark {?) in the given series?
1, 6, 31, 156, 7, 3906

Ans o 1 781
X 2.2125
X 3.985
X 4. 1225

Question 10 : 26433070219
Siatus © Answered
Chosen Option © 1

Q.7 Which two signs should be interchanged to make the below equation mathematically
correct?
T2=6+18+5-9=53

Ans X 1. =and +
252 +and -
¢ 3 +and -

o 4 = and

Question 10 - 2643301174495
Status - Answered
Chosen Option : 4




Q.8 Which of the following numbers will replace the question mark (?) in the given series?
33, 47, 44, 58, 56, 70, 69, 7

Ans X 1.80
X 282
X 384
o 4.83

Question 1D - 26433067879
Status - Answered
Chosen Option : 4

0.9 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
{NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subfracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
{20, 30, 450)
{35, 25, 540)

Ans X 1.(9, 17, 264)
& 2.(20,9, 297)
o 3. (7. 18, 225)
25 4. (8,15, 227)

Question 1D : 26433076487
Status | Answered
Chosen Option ; 3

Q.10 In a certain code language, FORCE is coded as 47, and GREEN is coded as 49. How
will FLAVOUR be coded in that language?

Ans X 1.98
X292
o 3.95
X 4. 100

Question D ;- 26433067995
Status | Answered
Chosen Option : 3

Q.11 Six people are sitting around a circular table facing the centre. Kaya is the immediate
neighbour of Jaya and Tara. Sonal is the immediate neighbour of Priya and Swati.
Sonal is sitting immediate right of Priya, Tara and Swati are not sitting immediately
next to each other. Who is sitting to the immediate left of Priya?

Ans 1 Tama
25 2. Kaya

25 3. Jaya
75 4. Swati

Cluestion 1D : 26433069665
Status | Answered
Chosen Option : 1




Q.12 Twp different positions of the same dics are shown having alphabets P 1o U, Find the alphabet on ihe face
opposite the face showing *1".

Ans X 1.0
Xz2s
® 3T
4R

Question 1D : 26433085526
Status | Answered
Chosen Option : 4

Q.13 Six colleagues A, B. C, D, E and F are having lunch together on a circular table at aqual
distance, facing the centre of the circle. D is the immediate neighbour of E and B while
C is the immediate neighbour of A and F. If A is to the immediate left of E, then who is
on the immediate left of C7

Ans X 1.D
o 2 F
X aB
MAE

Question 10 : 26433079052
Status | Answered
Chosen Option : 2

Q.14 Which of the following terms will replace the question mark (?) in the given series?
EZF, GXH, KTL, QNR, 7

Ans X 1.WEY
X 2. YGY
" 3. YFZ
> 4. %FZ

Question 1D - 26433068304
Status | Answered
Chosen Oplion : 2




Q.15 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed)

Ans

- &

R Al

o 4 { ‘

Cuestion 1D © 26433069337
Status | Answered
Chosen Option ;. 4
r— —
Q.16 Which two signs should be interchanged to make the below equation mathematically
corract?

42+16+T7-36=16=T6
Ans X 1. +and-

2 2 +andx

Question 10 : 264330114197
Status | Answered
Chosen Option : 3

Q.17 Which letter-cluster will replace the question mark (?) to complete the given series?
ZACF, WXZC, 7, QRTW, NOQT

Ans X 1.%UVZ
2. wUYZ
2 3. wwzZo

o 4. TUWZ

Question 10 - 26433067712
Status - Answered
Chosen Option : 4




Q.18 In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even Iif they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All bottles are bags.

Some bags are pencils.

Some pencils are sharpeners.
Conclusions:

I. Some sharpeners are bottles.
Il. Some bottles are pencils.

Ans 0 1. Both conclusions | and I follow.
& 2. Neithar conclusion | nor | follows,
75 3. Only conclusion 1l follows.

25 4. Only conclusion | follows.

Question 1D : 26433070393
Status | Answered
Chosen Option : 2

Q.19 Which option represents the correct order of the given words as they would appear in
the English dictlonary?
1 manner
2 manage
3 masculine
4 magic
5 matter

Ans X 1.12435
& 2.14325
o3 42135
XK 441253

Question 1D : 26433069285
Status - Answered
Chosen Option : 3

Q.20 'A + B'means ‘B is the father of A’
‘At B' means ‘B is the sister of A
‘A @ B' means ‘B Is the brother of A’
IfAg B#&#C + D +E, then how Is E related to A?

Ans X 1.Son
75 2. Father
" 3. Father's father

% 4. Father's brother

Question 1D - 26433068535
Status - Answered
Chosen Option : 3

Section . Part-B-General Knowledge and General awareness




Q.1 Jagol is a major style of which of the following forms of Indian classical dance?
Ans X 1. Saftriya

25 2. Kathak
o 3. Manipuri
5 4. Odissi

Question 10 : 26433070839
Status | Answered
Chosen Option ; 1

Q.2 Identify a way to reduce the pellution caused due to burning of fossil fuels
Ans ){ 1. By lowering the lemperature of burning

" 2. By increasing the efficiency of the combustion process
?( 3. By increasing the number of carbon molecules

25 4. By decreasing the latent heat

Question 1D : 26433096234
Status | Answered
Chosen Oplion : 4

_
Q.3 Tapan Kumar Pattanayak won the Sangeet natak Akademl| Award in which dance form?

Ans X 1. Kuchipudi
o« 2. Chhau
75 3. Sattriva
2 4. Odiasi

Cuestion 10 ; 264330115827
Status - Not Answerad
Chosen Option @ --

Q.4 Who was the first Indian to conguer the English Channel from Dover to Calals in 1958,
and also the only man to swim the oceans of the five continents in one calendar year
In 19667

Ans " 1. Mihir Sen
75 2. Ramanathan Krishnan
25 3. Ajit Pated
&% 4. Khashaba Jadhav

Question 1D - 26433089924
Status | Answered
Chosen Oplion : 2




Q.5 Rs. 2000 banknote of Mahatma Gandhi (New) Series has motif on its back.
Ans X 1. RaniKiVav

& 2. Mangalyaan
&5 3. SunTemple, Konark
75 4. Red Fort

Question 10 : 264330115382
Status | Answered
Chosen Option : 2

Q.6 Who commissioned India's first indigenous aircraft carrier INS Vikrant in Kochi in
September 20227

Ans X 1. Rajnath Singh
¥ 2. Amit Shah
25 3. Jyotiraditya Scindia
o 4. Marandm Modi

Question 10 : 264330114916
Status | Answered
Chosen Oplion © 1

Q.7 Which latitude line passes through the middle of India Inﬂum[:]ng the climate of the
country?

Ans X 1. Equator
&5 2 Tropic of Capricom
& 3. Tropic of Cancer

75 4. Antarctic Circle

Cuestion 1D 264330115984
Status : Answered
Chosen Option : 2

Q.8 During the reign of which of the following Mauryan kings, the Kalinga War was fought?
Ans X 1.Bindusara

o 2. Ashoka
X 3. Chandragupta
5 4. Dasaratha

Question 10 : 264330115454
Status | Answered
Chosen Oplion : 2




Q.9 When was the first complete Census conducted in India?
Ans X 1. 1882

X 2. 1880
X 3. 1B&7

o 4. 1881

Question 10 : 264330116036
Status | Answered
Chosen Option ; 1

Q.10 Who has been appointed as the "State Brand Ambassador” of Uttarakhand
government in August 20227

Ans X 1. Dinesh Karthik
«" 2. Rishabh Pant
25 3. Akshay Kumar
X 4. Rohit Shetty

Question 10 : 264330114985
Status | Answered
Chosen Oplion : 2

Q.11 The President of India is elected by
Ans 2% 1. Only the Members of State Legislative Assemblies

75 2. Only the elected members of both Houses of Parliament
25 3. Only the members’ of Council of States

o 4. tha Elected Members of both Houses of Parlament and State Legisiative
Assemblies.

Question 10 : 264330115663
Status - Answered
Chosen Option : 4

=
Q.12 Which of the following is the thanksgiving festival of Maharashtra, where bulls are
honoured as they are considered indispensable to farming?

Ans X 1. Makar Sankranti

" 2. Pola Festival

25 3. Gudi Padwa

75 4. Kala Ghoda Arts Festival

Question 10 : 264330106205
Status | Answered
Chosen Option : 3




Q.13 Original text of the Indian Constitution contained articles.
Ans X 1.376

2. 395
X 3.386
X 4. 440

Question 10 © 264330115691
Status | Answered
Chosen Option : 3

Q.14 Which of the following was one of the main objectives of the Seventh Five-Year Plan?
Ans X 1. Increase in Infrastructure

" 2. Increase in production of Food Grains
5 3. Elimination of poverty
25 4. Improve the standard of living

Question 10 : 264330116126
Status | Answered
Chosen Option : 1

Q.15 Moss and Marchantia comes under which of the fellowing?
Ans X 1. Algae

25 2. Gymnosperms
25 3. Pieridophytes
o 4. Bryophytes

Cuestion 10 ; 264330115210
Status - Not Answerad

Chosen Option @ --
= = == —_—— = = = = ==
Q.16 Revenue receipts are -as they do not lead to a claim on the government.

Ans X 1. capital receipts
75 2. reinforceable
25 3. redeemable

o 4. non-redeemable

Question 1D : 264330115282
Status | Answered
Chosen Option ;. 4

Q.17 During emergency which fundamental rights cannot be suspended?
Ans X 1. Article 14-15

o 2. Articie 20-21
X 3. Article 18-19

X 4. Aricle 16-17

Question 1D : 264330115617
Status | Answered
Chosen Option ; 1




Q.18 In which among the following states, Arabica coffee grown in India?
Ans X 1. Assam

25 2. Uttarakhand
75 3. West Bengal

o 4. Kamataka

Question 10 : 264330115529
Status | Answered
Chosen Option : 3

Q.19 falls under the Ministry of textiles.
Ang o 1. Samarh Schems

75 2 ambekar Social Innovation & Incubation Mission
75 3. MPLADS {Members of Parliament Local Area Development Scheme)
25 4. Merchandise Export From India Schems

Question 10 : 264330116173
Status | Answered
Chosen Option : 1

Q.20 Which State won the Vijay Hazare Trophy in 2017-187
Ans X 1. Uttar Pradesh

25 2. Kerala
75 3. Maharashtra

o 4. Karnataka

Cuestion 10 ; 264330116255
Status - Not Answerad
Chosen Option @ --

Section . Part-C-Elementary Mathematics

Q.1 A shopkeeper allows a discount of 40% on his articles and still makes a profit of 20%.
How much cost price does shopkeeper pay for an article whose marked prica is ¥
2.4007

Ans X 1.%1,728
& 271,200
X 3. %1440
X 4.%1,132

Question 10 : 26433062686
Status | Answered
Chosen Option : 2




Q.2 A man covers a certain distance by scooter at 64 km/h and he returns to the starting
place riding a bicycle at 16 km/h. Find the average spead for the whole journey.

Ans o 1 256 kmih
7% 2. 26.5 kmih
75 3,40 knwih

X 4.51.2 kmih

Question 1D - 26433076200
Status - Answered
Chosen Option @ 1

Q.3 5 women can complete a work in 8 days, while 8 children take 10 days to complate the
same work. How many days will 2 women and 4 children take to complete the work?

Ans 1 10
X212
X 340
X a8

Question 1D : 26433076384
Status | Answered
Chosen Option © 1

Q.4 The dinmeter of 2 right cireular cvlinder is 14 cm ond height is 2 cm. The sum of ibs curved surface area and ihe
muimfa:rmcis:{u:ew: 1:]

Ans 24 484cm’

7 2308 ot

K 3176 om?

K 4. 968 om®

Question 1D : 26433087416
Status . Answered
Chosen Option: 1

=

®® What is the fourth proportional tov6, V8 and V21 ?
Ans x 1 3ﬁ

ve 207

X3 87

X4 57

Question 1D - 26433079869
Status | Answered
Chosen Oplion : 2




Q.6 A can paint a painting in 12 days. B can paint the same in 8 days. C can paint the same
in 10 days. Find the (approximate) number of days in which the painting can be
painted by A if he is accompanied by both B and C together on alternate days and A
starts painting on the first day alone.

Ans X 1.44days
o 2. 5.4 days
X 3.7.2 days
5 4.8.5days

Question 10 : 264330116857
Status | Answered
Chosen Option . 2

Q.7 The population of bears in a city has been growing at 3% every year. If the present
population of bears in the city is 21,218, what was the population of bears two years
ago?

Ans X 1. 18000
X 2. 19000
X 3. 18500
o 4. 20000

Question 1D : 26433075412
Status | Answered
Chosen Option ;. 4

Q.8 The income of a person is ¥95,000 and his expenditure is ¥75,000. If his income is
increased by 18% and the expenditure by 12%, then what will be the percentage
increase in his saving?

Ans X 1.40.6%
X 2.40.8%
> 3.40.4%
o 4 40.5%

Question 10 : 26433080161
Slatus © Answered
Chosen Option : 4

Q.9 Mohan is selling a table at Rs.2,832. If his profit is 18%, then what is the cost price of
the table?

Ans X 1.Rs.2480
X 2.Rs.2.500
X 3.Rs.2.440
4 Rs.2.400

Question 1D - 26433075652
Status - Answered
Chosen Option : 4




Q.10 In how much time (in years) would ¥80,000 amount to 1,17,128 at 10% per annum rate
of interest, compounded yearly?

Ans o 1 4 years
75 2 2 years
#5325 years
75 4. 3.5 years

Question 1D - 26433076229
Status - Answered
Chosen Option @ 1

Q.11 5 bells start commencing together at 9 AM. They ring at the intervals of 12 seconds, 18
seconds, 24 seconds, 36 seconds and 45 seconds. At what time do the bells ring

together again?
Ans X 1.9:10 AM

o 2. 306 AM
2 3.9:08 AM
2 4,9:05 AM

Question 10 : 264330116633
Status | Answered
Chosen Option ;2

Q.12 A spends 45% of his salary on food and donates 5 % of his salary on old age homes. If
he spends Rs.28,500 on food and old age homes, then what will be the salary of A?

Ans X 1. Rs.52,000

2 Rs. 57,000
» 3. Rs. 50,000

x 4 Rs.55,000

Question 1D : 26433081016
Status : Answered
Chosen Oplion ;. 2

Q.13 A cone of radius 9 cm and height 15 cm is melted and made into a cylinder of height 45
cm. The diameter of the cylinder is:

Ans X 1.3cm
5 2. 5em
X 3. 10cm

o 4. 6 om

Question 1D : 26433075332
Status | Answered
Chosen Option : 4




Q.14 4 person nides bicyele on four different ways 1o reach the destination. Determine the average speed during this

whole poursey.
Wav Sp-ccd | Distance
(kM) | (km)
A 5 i}
B 3 15
C 2 I
D 4 .t |
Ans km
x1. 45—
hr
km
&2 345 —
hr
km
X3 55—
km
x4 245 —
hr

Question 10 - 26433076001
Status - Answered
Chosen Option : 2

Q.15 Divya bought a car for ¥ 3,50,000 and sold it for ¥ 4,35,000. What is her percentage
profit (correct up to one decimal place)?

Ane. X 1.23.3%
2 24.3%
X3 21.5%
x4 20.7%

Question 1D : 26433075543
Status | Answered
Chosen Option ; 2




Q.16
If(5x—2y):(x—2y )=9: 17. then find the value uf;—xy.

|
421

151
1731
vs B
247
144
1001

X2

X 4

Question 1D : 26433080030
Status | Answered
Chosen Option ; 3

Q.17 A car covered 240 km in 5 h. If it travels with half of its usual speed, then how much
more time will be taken to cover the same distance?

Ans X 1.3h
2.5h
X3i0h

2 4.4n

Question 1D - 26433076306
Status | Answered
Chosen Option : 2

Q.18 X bought 40 pencils for a total of Rs 180 and bought 2 dozens of pens for Rs 180, Find
the difference between the price of one pen and one pencil.

Ans X 1.Rs35
2R3
X 3.Rs2
X 4.Rs25

Question 10 : 264330116689
Status | Answered
Chosen Option : 2

.19 How many prime numbers are there between 40 and 507
Ans X 1.4

Xzas
3.3
X4z

Question 1D - 26433080282
Status | Answered
Chosen Option : 3




Q.20 A dealer allowed a discount of 20 percent on marked price of Rs. 72000 on an article
and Incurred a loss of 10 percent. What discount should he allow on the marked price,
g0 that he gains Rs. 440 on the article?

Ans o 1. 10.5 perent
75 2.8.5 percent
75 3.9.5 percent
2% 4. 11.5 percent

Cluestion 10 ; 264330116742
Status | Answered
Chosen Option : 1

Section . Part-D-English

Q.1 Identify the correctly spelt sentence.
Ans X 1.The events arranged or organised in order of time are known as chronoligal order,

f 2. The events amanged or organized Inocrder of time are known as chronological order,

K 3. The events arranged or organised in order of time are known as chronologikal order.

75 4. The events arranged or organised in order of time are known as chronoloigal order.

Question 10 : 26433072826
Status | Answered
Chosen Option : 2

_ ——
Q.2 Select the most appropriate ANTONYM of the given word.

Timid
Ans 2§ 1. Diffident
2. Shy

& 3. Bold
5 4. Fearful

Question 1D : 26433073571
Status | Answered
Chosen Option 7 3

Q.3 Select the most appropriate synonym of the given word.
Blast
Ans. o1 Blowup
5 2. Recall
& 3. Plead
7 4. Share

Question 1D : 26433089107
Status | Answered
Chosen Option : 1




Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| regarded my brother on passing his graduation examination.
Ans o 1. congratulated

7 2 disparaged
5 3. flattered
2 4. kowtowed

Question 1D : 26433088163
Status | Answered
Chosen Option : 1

Q.5 Select the most appropriate ANTONYM of the given word.
Liability

Ans X 1. Resource

25 2. Responsibility

o 3. Asset

7% 4. Strike

Question 1D : 26433072269
Status | Answered
Chosen Option ;. 4

Q.6 Select the most appropriate homophone to fill in the blank.

In many road accidents people break their bones mainly because their vehicle
fails.

Ang o 1 brake
75 2. broke
75 3. brow
¥ 4. bleak

Question 1D : 26433088794
Status - Answered
Chosen Option ; 1

Q.7 Select the correct word for the blanks in the given sentencea.

Sivakashi Is famous for its box industry, and | am unable to find a
for my purple dress.

Ans U 1. sweat
o 2. match
25 3_chatter
75 4. bread

Question 10 - 26433060538
Status - Answered
Chosen Option : 2




Q.8 Select the most appropriate option to fill in the blank.

Truthfully speaking, the victories of peace and harmony have a more
impact on human civilisation than the so-called victories of war.

Ans X 1. Superior
75 2 Transient
o 3. Lasting
5 4. Greater

Question 1D : 26433074420
Status | Answered
Chosen Option : 4

0.9 Select the most appropriate option to substitute the underlined segment in the given
santence.

Purchasing furniture at a low cost could not involve abandoning design or quality.

Ans " 1. should not entail sacrificing
25 2. did not provoke compromising
25 3. have not done regretting

25 4. cannot force forgetting

Question 10 : 26433092914
Status | Answered
Chosen Option ; 1

Q.10 Select the most appropriate synonym of the given word.

Colloguial
Ans X 1. Lexical

" 2. Conversational
25 3. Prosodic
& 4. Linguistic

Question 1D : 26433073635
Status - Answered
Chosen Option ; 1

Q.11 Select the option that expresses the given sentence in future tense form.

There are multiple facilities available for reaching the island.

Ans. & 1. There will be multiple facilities available for reaching the istand.
25 2. There have been multiple facilities available for reaching the istand:
25 3. There had been multiple facilities avallable for reaching the island.

25 4. There were multiple facilities available for reaching the island.

Question 10 : 26433089292
Status | Answered
Chosen Option ; 1




Q.12 Select the INCORRECTLY spelt word.
Ans X 1. Maladjusted

25 2. Stakeholder
o 3. Permenent

X 4. Longitude

Question 10 : 26433073513
Status | Answered
Chosen Option : 3

Q.13 Select the most appropriate ANTONYM of the given word.

Rancid
Ans X 1. Rotten

75 2. Urgent
o 3. Fresh
&5 4. Rough

Question 1D : 26433071977
Status | Answered
Chosen Option ; 3

Q.14 Select the most appropriate meaning of the given idiom.
At your beck and call
Ans . o 1. To have absolute control over someone
X 2. To call someone respectfully
25 3. To have no control over someane

25 4. To call someane and then deny

Cuestion |D © 26433072224
Slatus | Answered
Chosen Option ;1

Q.15 Select the most appropriate meaning of the given idiom.

A night owl
Ans ?( 1. Someone who has good eyesight

&5 2. Someone who works very hard
X 3 Someone who never works

o 4. A person who prefers fo De awake late at night

Question 1D : 26433072675
Status | Answered
Chosen Option ;. 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The companies in the present era (1) priority. during recruitment, to the
candidates who have Emotional Intelligence. El is the ability to understand, analyse and
control emotions. Possessing very high El creates a (2) impact on a person's
life. People who have El always maintain emotional stability even in difficult situations. They
can be nice even in socially awkward siteations. As they are very good at controlling
emotions, they make others feel (3) . It is proven that it will make leaders more
effective as they understand the feelings of teammates. |t allows one (4)

impactfully with others. Stress and conflict can be handled so easily. As it allows great
empathy towards others, they can be very good at interpersonal relationship. These people
strengthen the relationship (5) the people with their interaction and coordination
both in personal and professional life. Companies are well aware of the benefits with the
employees who have EI

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 2% 1. has been giving

75 2. have been given
" 3. are glving

5 4. Is giving

Question 1D : 26433072166
Status | Answered
Chosen Option : 3

Comprehengion:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The companies in the present era (1) pricrity. during recruitment, to the
candidates who have Emotional Intelligence. El is the ability to understand, analyse and
control emotions. Possessing very high El creates a {2) impact ona person's
life. People who have El always maintain emotional stability even in difficult situations. They
can be nice even in socially awkward situations. As they are very good at controlling
emations, they make others feel (3) . It is proventhat it will make leaders more
effective as they understand the feelings of teammates. It allows one (4)

impacifully with others. Stress and conflict can be handled so easily. As it allows great
empathy towards others, they can be very good at interpersonal relationship. These people
strengthen the relationship (5) the people with their interaction and coordination
both in personal and professional life. Companies are well aware of the benefits with the
employees who have EL

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1.creative

" 2. positive
25 3. colonial

5 4. memorable

Question 10 : 26433072167
Status | Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The companies in the present era (1) priority. during recruitment, to the
candidates who have Emotional Intelligence. El is the ability to understand, analyse and
control emotions. Possessing very high El creates a (2) impact on a person's
life. People who have El always maintain emotional stability even in difficult situations. They
can be nice even in socially awkward siteations. As they are very good at controlling
emotions, they make others feel (3) . It is proven that it will make leaders more
effective as they understand the feelings of teammates. |t allows one (4)

impactfully with others. Stress and conflict can be handled so easily. As it allows great
empathy towards others, they can be very good at interpersonal relationship. These people
strengthen the relationship (5) the people with their interaction and coordination
both in personal and professional life. Companies are well aware of the benefits with the
employees who have EI

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ang o 1. comfortabie
75 2. tolerable
5 3. favourable

5 4. manageable

Question 1D : 26433072168
Status | Answered
Chosen Option : 1

Comprehengion:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The companies in the present era (1) pricrity. during recruitment, to the
candidates who have Emotional Intelligence. El is the ability to understand, analyse and
control emotions. Possessing very high El creates a {2) impact ona person's
life. People who have El always maintain emotional stability even in difficult situations. They
can be nice even in socially awkward situations. As they are very good at controlling
emations, they make others feel (3) . It is proventhat it will make leaders more
effective as they understand the feelings of teammates. It allows one (4)

impacifully with others. Stress and conflict can be handled so easily. As it allows great
empathy towards others, they can be very good at interpersonal relationship. These people
strengthen the relationship (5) the people with their interaction and coordination
both in personal and professional life. Companies are well aware of the benefits with the
employees who have EL

SubQuestion No : 19
.19 Select the most appropriate option to fill in blank number 4.

Ans X 1. communicate
25 2. to communicating
25 3. to be communicated

q”' 4. to.communicate

Question 10 : 26433072169
Status | Answered
Chosen Option ; 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The companies in the present era (1) priority. during recruitment, to the
candidates who have Emotional Intelligence. El is the ability to understand, analyse and
control emotions. Possessing very high El creates a (2) impact on a person's
life. People who have El always maintain emotional stability even in difficult situations. They
can be nice even in socially awkward siteations. As they are very good at controlling
emotions, they make others feel (3) . It is proven that it will make leaders more
effective as they understand the feelings of teammates. |t allows one (4)

impactfully with others. Stress and conflict can be handled so easily. As it allows great
empathy towards others, they can be very good at interpersonal relationship. These people
strengthen the relationship (5) the people with their interaction and coordination
both in personal and professional life. Companies are well aware of the benefits with the
employees who have EI

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.

Ans X 1.in eference with

5 2. between
25 3. along with
o 4. among
Question 1D : 26433072170
Status : Answered
Chosen Option : 4
Section - Part-D-Hind|

Q1 g8 I & fred T W YEited we @1 Suged e we S g

IRd & HEl Afaqie & a1 e & 9t Fet & T USaT B
Ans X' 1 TgglE
o 2. 3T
X 3.9
K 4. A

Question 1D : 26433066909
Status . Not Answerad
Chosen Option © ==

Q.2 @ 4 feE e
I I | oS wEwl 1 vsemet Fefafee | g are g

Ans X' 1. T G &S HETE Al
X 2. @0 = it e
o 3. T | # o e amm
X 4w @ wy e

Question 1D : 26433066967
Status | Not Answerad
Chosen Option | --




a3 Tﬁmmmiﬁi’

I 9190 @ HiGared # S 9iaI0 8-
Ans X 4 A = @ TE
o 2. T | T R e
25 3. A = T e
X 4. A | AR T R

Question 1D : 26433066980
Status | Not Answerad
Chosen Option © ==

Q.4 fav e w2l § @ ofvs we 9 areg qof &9 -
dgel_ e gEE S gl

Ans X4 T
X 2.5
2 3.4

o 4 TS

Question 1D : 26433062909
Status | Not Answerad
Chosen Option | --

a5 faus figEr geray o1 o ghm-
Ans @ EETLRIEEA

2% 2. ofFm wE
X 3. Tt @ oTTE H mEar
X 4. 7 O FE

a6 PofafEaa S FaEsdagE
Tita\ g = et W H Sudw fFm

Ans X 1. YTHT
X 2. guE
X 3 f&m
o 4. Tl

Question 10 : 26433069947
Status : Not Answered
Chosen Oplion ;==

Question 10 : 26433066753
Status - Not Answerad
Chosen Option © ==




Q.7 are | Yaiferd o & ferg 3R geraw Ry g et § @ 9.
T wm &

Ans X 1 wioH @
o 2. T e @1 a9
X 3 g A
X 4. TUEE®

Question 1D - 26433062304
Status | Not Answerad
Chosen Option © ==

Q.8 “vadr ¥ yaigardt v & T 7 gfid S
WIS EakoiER o]
Ans X 1. uEl
X 2. @
o 3. TE
X 4.9

Question 10 : 26433079242
Status - Not Answerad
Chosen Option © ==

Q9 PufafEasa s PaaEsagR
Sitae aftz e =1 917 H9y

Ans X 1. wEy
2 11
X 3. @ fem
X 4. digT

Cluestion 1D : 26433066756
Status © Not Answerad
Chosen Option © ==

Q.10 g5 wiea @i Renfiat 1 vgr &1 5 sy & 9w & foe ade o= 2.
Ans X 1. fremdf

o 2. TEm

X3 om

* 4. Fmi

Question 1D - 26433062230
Status - Not Answered
Chosen Option & -




Q.11 wwisal o1 HHEI
@i U2 wqE ¥ 956 IUYEd Weg BT W Sty

Ans X 1 @S
X2 E
X 3.7
o 4.5

Question 1D : 26433062691
Status | Not Answerad
Chosen Option © ==

Q.12 T FT S ynT I ¥ o s s aan -
Ans 1 JG0d

X 2. 3=

X 3.7

P N

Question 1D : 26433065908
Status | Not Answered
Chosen Option ; --

Q.13 fm & & 5w areg § Iver & d yaigarst W= &1 wghT gan 87
ANs. o 1 o H 3 ®T5 e oy g

X 2. 7% iy mitE 3

X 3. 79 # IaE B S 2

X 4. T 7 IO Femar @ givad B

Question 1D : 26433067015
Slatus . Not Answerad
Chosen Option & --

Q.14 TF agar

9 a9g ¥ wges UgEd foean 51 919 F41sy)
Ans. 1 FeaETyeS ST

& 2. SAETIRINE Wy

& 3. arrfoEtys dge e

X 4. aTftaEr WY

Question 1D - 26433063048
Status © Not Answered
Chosen Oplion © ==




Q.15 Frafufs aweaim & frg Suge arfe o= &
el A W HE

Ans X 1 FEAl
X 2 wmEF
oF 3. I
7 4w

Question 1D - 26433065756
Status | Not Answerad
Chosen Option © ==

Comprehension:

FreffaT T § oo =i w1 g e v §1 B fwe 5 aemm @ e e 9 oi
Hifo| wE® S & fig aud g fAee @ 99 54

ﬂﬁruﬁmww1 Tl & fire wer 21 fia U SUER £ o

& WG ST 21 We hE aet giar & e ero sd o e
mﬁlmﬁmﬂmaﬂémﬁﬁ%mﬁmﬁﬁm@?ﬁ%ﬁhﬁm
4. H & yas 21 st it £

SubQuestion Mo : 16
Q.16 frea T 1 91 yfd & forg wadt gugen fawen @1 99 Sifag)
Ans X § THERIHSD
X o
X 5 =mn

f‘|.ﬁ

Question 10 - 264330110993
Status - Not Answered
Chosen Option & -

Comprehension:

Frafafan mamw & oo el @ g G 81 By e ot sewar # e wueE @ il
T W S o [o7] Was Sugad [dmed @1 90 @ |

ﬂﬁmmﬁm1 a7 & e wer 21 fiyga 0w SRR 2 W

1 WG B o1 Hoa (0 gl 5iaT ¢ roed S gd @ i a.
mﬁlmﬁﬁﬂﬁﬂ?ﬁﬁ%mﬁfﬂ%ﬁmﬁ@ﬂﬁuﬁmﬂﬁ?ﬂ%ﬁrhﬁm
4. # # uars 21 It s, Tt 21

SubQuestion No : 17
Q.17 frem w2 9t off & fow wad Sugs fawwn =1 907 Fiem
Ans 20 1 FEH|
X 2 R
& 3. HITTEIE]
X 4. |

Question 10 : 264330110994
Status | Not Answerad
Chosen Option © ==




Ans

Comprehension:
Frofafan mew oo met ® g G R g fawedt @t aerae | fa s e R
T | He® e & o) e SOgad [dded 1 a0 @
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SubQuestion No : 18

Q.18 frea v 3 9t gfd & forg el ouge fawe =1 999 Fifm)

" 1. JUTa
K 2. 9WE
X a7
X 4 yaE

Question 1D : 264330110995
Status | Not Answerad
Chosen Option | --

Comprehension:
FrafefaT T § oo weat & g1 o 31 By T fwe i wsmm # fem s ol
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SubQuestion No : 19

Q.19 fram T 4 1 gff & forg wad gugw fawe =1 a0+ S
Ans. o1 TS

X 2 e
X 3. feEm
X 4. A

Question 10 : 264330110996
Status - Not Answerad
Chosen Option & ==




Comprehension:
Frofafan mew oo met ® g G R g fawedt @t aerae | fa s e R
Hifory | UEE e & fog 9ud SO0 fae e @ 99 S
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SubQuestion No : 20
Q.20 free v 5 91 gfd & fore wad Suged e o1 9q7 Fifag)
Ans o 1 TGS
X 2 femm
X 3. O
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Question 1D : 264330110097
Status | Not Answerad
Chosen Option | --




Adda247

Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

[Roll Number

I[Candidate Name |

[Venue Name [TCS Gito Bitan

[Exam Date 10/01/2023

Exam Time 11:45 AM - 12:45 PM

Subject Constable GD Examination 2022




Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been
cut is shown below. Select the figure which would most closely resemble the unfolded form
of the papar.

--------- i b . TR
—— -

Ans
5
vVe OVVY
o 1.
AAO OnA
O O
C"GAQ
vWwo o
x 2
AAS O
O vV
0<50t>
L& >
¥ i
AL OnAA
o) (o]
Oabﬂ
O oOVVY
x 4.
AAL AAD
O ()

Question 1D : 26433087035

Status | Answered

Chosen Oplion © 1




Q.2 Six girls D, K, M, P, R and 5 are sitting around a circular table, facing the centre. 5 is
sitting third to the left of R. P is sitting to the immediate right of R and to the immediate
left of D. M is sitting to the immediate left of R. K is sitting to the immediate right of 5
and to the immediate left of M. Who is the immediate neighbour of K and D?

Ans. X 1R
S 2P
M

W45

Question 1D : 26433080472
Status | Answered
Chosen Option : 4

Q.3 Which two signs should be interchanged to make the below equation mathematically
corract?

42 +12+24 % 84 -14=91
Ang o1 +and =

2 vand-
5 3.-and +
25 4. xand

Question 1D ; 264330117505
Status | Answered
Chosen Option © 1

Q.4 Select the option that is related to the third word in the same way as the second word
iz related to the first word (The words must be considered as meaningful English
words and must not be related to each other based on the number of
letters/consonants/vowels in the word). !

Pediatrician : Children :: Dermatologist : ?

Ans X 1. Feet
75 2. Bones
75 3. Plam

o 4. Skin

Question 1D : 26433078823
Status | Answered
Chosen Oplion : 4

Q.5 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 lonaly
2 longltude
3 lovely
4 lounge
5 locker

Ans X 1.5.1234
X 2.52134
Vv 3.561243
7454312

Cluestion 1D : 26433069317
Status | Answered
Chosen Option : 3




Q.6 Which letter-cluster will replace the question mark (?) to complete the given series?
UERB, RHOE, 7, LNIK, IQFN

Ans X 1. OKMH
X 2. OKNI

o 3. OKLH
2 4. OLMI

Question 1D - 26433068574
Status - Answered
Chosen Option : 3

Q.7 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
{NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed)
{20, 90, 10)
{25, 135, 10)

Ans o 1.(18,72 10}
7% 2.(19. 80, 15)
X 3122 150, 7)

2 4.(30, 169, 12)

Question 1D : 26433076546
Status | Answered
Chosen Option © 1

Q.8 Which of the following interchange of numbers (not digits) would make the given

equation correct?
Bx15+3+14-4=26

Ans X 1.15 28
24,8
X 3.14,15
X434

Question 1D - 26433087045
Status | Answered
Chosen Oplion : 2

Q.9 A @ B means ‘A is the husband of B'.
A & B means ‘A is the mother of B".
A# B means ‘A is the daughter of B".
A % B means ‘A s the sister of B'.
FGW%uV@KE&Pand G#5 %M, then how is 5 related to P?

Ans o 1. Father's mothe
75 2. Mother-in-law
75 3. San's son

75 4. Father-in-law

Question 1D : 26433069614
Status | Answered
Chosen Option ; 1




Q.10 Which of the following numbers will replace the question mark (?) in the given series?
7, 50, 351, 2458, 7

Ans o 1. 17207

X 2. 18000
X 313582
X 4. 15265

Question 1D - 26433082002
Status - Answered
Chosen Option @ 1

Q.11 Which of the following terms will replace the question mark (?) in the given series?
DBA, JHG, PNM, ?

Ans X 1.VTU
¥ z2.vTQ
& 3. VTS
* 4. KMV

Question 1D : 26433068631
Status | Answered
Chosen Option ; 3

Q.12 Three Statements are given followed by Three conclusions numbered |, Il and 1.
Assuming the statements to be true, even if they seem to be at variance with
commeonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

Some cabbages are rocks.

All rocks are wheels.

Mo wheel is a scissor.
Conclusions:

I. All cabbages are wheels.

Il. Some rocks are wheals.

Ill. Some wheels are not scissors.

Ans X 1 Both conclusions | and Il foliow.
75 2. Both conclusions | and 11l follow.
" 3. Both conclusions [ and 1] follow.

75 4. All conelusions follow.

Question 1D - 26433081792
Status | Answered
Chosen Oplion : 3




Q.13 Eight people are sitting in two parallel rows with 4 people each in such a way that
there is equal distance between adjacent persons and they are facing each other.
Inrow |- L, M, N and O are seated and all of them are facing south.

Inrow Il - P, Q, R and 5 are seated and all of them are facing north.

N sits next to the person at the extreme right end of their row and is facing R. § sits at
the extreme left end of their row. Q sits to the immediate right of R and Is facing L. O
gitz at the extreme left end of their row.

Who sits at the extreme right end of the row of people facing South?

Ans 2 1N
i M
¥al
a0

Question 1D : 26433068745
Status © Answered
Chosen Option : 2

Q.14 Select the correct mirror image of the given figure when the mirror is placed at MN
as shown below.

94nom7db6
N

9adbYnomae
v2:9dbYmonbde

*edbYmonbha
x+9abdYmonhe

Ans

Question 10 : 26433082331
Status | Answered
Chosen Oplion: 2

Q.15 In a certain code language, ‘MONTH' is written as “141213719" and "YEAR' is written as
‘222269, How will ‘WEEK' be written in that language?

Ans X 1. 1444424
X 22444418
5 34222961
of 4 4222218

Question 1D : 26433068228
Status | Answered
Chosen Option ;. 4




Q.16 In a certain code language, ‘BUYER' is written as ‘'CS5ZC5’ and 'CHILD" is written as
‘DFJJE’. How will 'DEATH' be written in that language?

Ans X 1.GFCRJ
X 2.EBCWJ
X 3. FFBUI
" 4 ECBRI

Question 1D - 26433082558
Status - Answered
Chosen Option : 4

Q.17 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed)

/

L

Xa

L~

v

&3

Question 1D - 26433069349
Status - Answered
Chosen Option : 3




Q.18 Select the figure from among the given options that can replace the question mark
(?) in the following series.

B N P .

Ans

oL

ARG

)

Question 1D - 26433080494
Status | Answered
Chosen Oplion ; 4

Q.19 Select the option that is related to the fifth letter-cluster in the game way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

UCE:FEX:: PGS :TIS::HKR: ?

Ans X 1. SNK
X 2. sM
o 3. SMK
X 4. RKH

Question 1D : 26433057745
Slatus © Answered
Chosen Option : 3

—_—— e = e = TR T — —

Q.20 Which of the following numbers will replace the quis_’tlnn mark {?) in the given series?
7,17, 7, 137, 407, 1217

Ans X 1.57
2 34
2 351
o 4.47

Question 1D - 26433068096
Status - Answered
Chosen Option : 4

Section . Part-B-General Knowledge and General awareness




Q.1 Sadanam P.V Balakrishnan won the Sangeet Natak Akademi Award in which dance
form?

Ans X 1. Lavani
o 2. Kathakall
% 3. Bharatnatyam
% 4. Kuchipudi

Question 10 - 264330115844
Status - Not Answered
Chosen Option & -

Q.2 Who among the following was the first Indian to be recrulted in Indian Civil Service in
British India?

Ang & 1. Salyendranath Tagore
75 2. Rahimtulla M Sayani
75 3. Rabindranath Tagore

25 4. Surendra Nath Banerjes

Question 1D : 26433090582
Status | Not Answerad
Chosen Option | --

Q.3 In badminton each game consist of how many points?
Ans. X 1.15

o221
Xan
X420

Question 1D 264330115928
Status : Not Answered
Chosen Option © =

Q.4 Who was the first flag bearer for India in the Olympics?
Ans " 1. Purma Banerjes

75 2. Dhyan Chand
¥ 3. Lal Shah Bokhari
75 4. Zafar Igbal

Question 10 : 264330116258
Status © Not Answered
Chosen Oplion © ==




Q.5 Rs. 50 banknote of Mahatma Gandhi (Mew) series has base colour of .
Ans X 1.chocolate brown

25 2. stone grey
o 3. fluorescent blue

5 4. lavender

Question 10 : 264330115292
Status - Not Answerad
Chosen Option © ==

0.6 Which of the following is a classical dance form from Andhra Pradesh?
Ans X 1. Bharatanatyam

75 2. Mohiniyattam
o 3. Kuchipud
25 4. Manipuri

Question 1D : 26433074069

Mot Attempted and
Marked For Review

Chosen Oplion © ==

Status -

Q.7 Identify a redox reaction.
Ans X 1

2Pb(NO3 )2 (s) — — —— Heat 2PbO(s) +4NO; (g) + 02 (g)
X 2. CaCOs(s) — — —— Heat CaO(s) + CO2(g)
« 3. MnO2+ 4HCl — MnCl + 2H20 + Cla
X 4. Pb(s) + CuClz(aq) — PbCla(aq) + Cu(s)

Question 1D : 26433091479
Status | Not Answered
Chosen Option § --

Q.8 Maha Shivratri is celebrated in the honour of the Hindu deity, Lord Shiva in the Hindu
month of

Ans X 1. Kartika
25 2. Chaitra
«" 3. Phalguna
&5 4. Vaishakha

Question 1D : 264330115124
Status | Not Answerad
Chosen Option | --




Q.9 The plan between fifth five year plan and sixth five year plan is known as
Ans X 1. Forward

25 2. Equality
o 3. Roliing

75 4. Integrated

Question 10 : 264330116139
Status | Answered
Chosen Option : 3

Q.10 According to Xuan Zang, the of Nalanda Buddhist monastery asks new
entrants difficult questions which were very difficult to answer

Ans X 1.chief of monastery
" 2. patekeeper
25 3. youngest mank
X 4. oldest monk

Question 1D - 26433085220
Status © Not Answered
Chosen Oplion © ==

Q.11 As on October 2022, who Is the General Secretary of the Communist Party of India 7
Ans 2% 1. Sitaram Yechury

o 2. D. Raja
25 3. Indrajit Gupta

25 4. Binoy Viswam

Question 10 : 264330114995
Status - Not Answerad
Chosen Option ;==

Q.12 Skill India Misslon's Governing Councll Is chaired by the
Ans XX 1. Chief Minister

75 2. President
& 3. Prime Ministar

25 4. Home Minister

Question 10 : 264330116190
Status - Not Answerad
Chosen Option © ==

Q.13 The contribution made by each sector of the economy into GDP Is called

Ans o 1. structural compasition
25 2. nominal composition
25 & real GDP

75 4. real composition

Cluestion 1D : 26433082165
Status - Not Answerad
Chosen Option © --




Q.14 In Nomadic herding, herdsmean move from place to place with their animals for
and aleng defined routes.

Ans X 1. money and water

&5 2 shelter and money
" 3. fodder and water

75 4. shelter and fodder

Question 10 - 264330115539
Status - Not Answered
Chosen Option & -

Q.15 Whe among the following was elected as Member of Rajya Sabha from Tripura, India in
September 20227

Ans % 1. Arun Singh
75 2. Miriam Rengma
75 3. Radha Mohan Das

«" 4. Biplab Kumar Deb

Question 1D : 264330114948
Status | Not Answerad
Chosen Option | --

—
Q.16 Which article of the Indian Constitution deals with the ‘protection of life and personal
liberty"?
Ans X 1. Aricle 18
o 2. Article 21
&5 3. Aricle 20
75 4. Article 22
Question 1D : 26433089306
Siatus © Answered
Chosen Option @ 2
—_— = = == = T s = = _

Q.17 Which of the following case is NOT a eriminal law case?
Ans X 1. Murder

25 2. Harassment for dowry
X 3. Thert
o 4. Divorce case

Question 1D : 26433089183
Status | Answered
Chosen Option ;. 4




Q.18 Name the state which has the highest female literacy rate in India as per census 2011.
Ans X 1. Mizoram

& 2. Kerala
75 3. Kamataka

75 4. Maharashtra

Question 10 : 264330116053
Status - Not Answerad
Chosen Option © ==

Q.19 In human body, the food passes through a continuous canal which begins at
and ends at anus.

Ans X 1.stomach

" 2. buccal cavity

75 3. food pipe
X 4. rectum
Question 1D : 264330115227
Status @ Answered
Chosen Oplion © 1
—
Q.20 Tamil Nadu coast gets a large portion of its rain during and

Ans X 1. Apriland May
o 2. October and November
25 3. May and June

25 4. August and September

Question 1D : 26433087879
Status - Not Answerad
Chosen Option ;==

Secticn - Part-C-Elementary Mathemalics

Q.1 Aand B can complete a work separately in 10 days and 15 days, respectively. B alone
work for 3 days and then he left the work. In how many days will A finish the remaining
work?

Ans X 1.8

X29

3.8
xav

Question 10 - 26433081081
Status - Answered
Chosen Option : 3




Q.2 Find the product of the numbers whose HCF and LCM are 8 and 40 respectively.
Ans X 1.240

2 2300
¥ 3320
> 4,380

Question 10 : 264330116665
Status | Answered
Chosen Option : 3

Q.3 The difference batwean compound merast and simple aesest = 1228 for o certain oum of money ab §% per
aaowim for 1 ; years, when compound infensst 18 compounded hnd{-yearly and simple mterest 1 compuied vearly,
What is e swn?

Ans X 1. 746,900
Xz 346,531
X 3. 47,000
v+ 346,875

Question 1D - 26433090258
Status © Not Answered
Chosen Oplion © ==

Q.4 John borrowed some amount of money from a bank at the rate of 10% per annum on
compound interast for which interest is compounded annually. If he repaid his loan by
paying $21,961.50 at the end of 4 years, what is the amount he borrowed?

Ans X 1.%17,000
o 2. 315,000
X 3.%16,000
X 4.T14,000

Cluestion 1D : 26433071233
Status - Not Answerad
Chosen Option © --

Q.5 A bus travels from statlon P to station Q at a speed of 70 km/h, and from station Q to
station P at a spead of 90 km/h. What is the average speed of the bus during the entire
journey?

Ans X 1.75.78 km/h
o 2. 78,75 kmvh
X 3.80.25 kmih
X 4.82.35 kmih

Question 1D - 26433080375
Status - Answered
Chosen Option : 2




Q.6 Sonal and Arjun together can finish a piece of work in 57 days, Arjun and Rohan in 38
days, and Rohan and Sonal in 38 days, then Sonal, Arjun, and Rohan together can
finish the same work in how many days?

Ans X 1.31.5days
oF 2. 28.5 days
25 3.26.5days
X 4. 24 5 days

Cluestion 10 ; 264330116874
Status | Answered
Chosen Option : 2

Q.7 On selling a table fan at Rs.2,827.06, the value of gain is 14% more than the value of
loss incurred on selling it at Rs.2,230. In order to gain 14%, the selling price will be:

Ans X 1.Rs3045
X 2.Rs2.890
" 3. Rs.2,860.26

> 4, Rs2.844.50

Question 1D - 26433074923
Status | Not Answerad
Chosen Option © ==

.8 The ratio between the fourth proportional of 7, 5 and 3 to the third proportional of 7
and 13 is:

Ans. X 1.75:448
o 2 15 169
* 321:25
x 425 21

Cuestion 1D : 26433079943
Slatus | Answered
Chosen Option : 2

Q.9 a cylindrical tank has a capacity of 5632 m?. If the diameter of its base is 16 m, find its
depth.

Ans 1. 28 m
Xoezazm
5 330m
5 4.34m

Question 10 : 26433079807
Status | Answered
Chosen Option ; 1




Q.10 A shopkeeper sells goods at a profit of 12% and uses a weight which is 15% less than
the original weight. Find his total percentage gain. (Correct to 2 decimal places)

Ans o 1.31.76%
X 2.3024%
X 3.28.75%
X 4.2580%

Question 1D - 26433080164
Status - Answered
Chosen Option @ 1

011 fA:B=5:6andB:C=6: 7, then{A+B): (B+C): (C+A)is:
Ans. X 1.12:13: 11

o2 11:13:12

Kanco12:.13

WA 1311192

Question 1D : 26433074990
Status | Answered
Chosen Option : 2

Q.12 The LCM of two numbers is 15 times their HCF. The sum of the LCM and the HCF is
112. If one of the numbers is 49, then the other number is:

Ans X 1.18
>am
7324
o415

Cuestion 1D : 26433079829
Status : Answered
Chosen Option : 4

Q.13 In a circular race of 400 m In length, A and B start at speeds of 10 m/s and 16 m/s,
respectively, at the same time from the same point. After how much time will they meet
for the first time at the starting point when running in the same direction?

Ans % 1.180s
o 2.200 5
X 3.240s
X 4220

Question 1D - 26433074968
Status | Not Answerad
Chosen Option © ==




Q.14 What is the length of the longest pole that can be placed in a room of dimensions 10 m
x10mx5m?

Ans X 1.20m
X 2.25m

3. 15m
¥ 4.10m

Question 1D - 26433066369
Status - Answered
Chosen Option : 3

Q.15 A clothing stere announced a discount of 30 percent on shirts. Rivaan wanted to save
Rs. 810 in discount. How many shirts should he buy to do so, if marked price of each
shirt is Rs. 5407

Ans X 1.6
2.5
X34
X 48

Question 10 : 264330116759
Status | Answered
Chosen Option ;2

Q.16 Atrain 120 m long passes a bridge in 18 seconds moving at a speed of 60 km'h. Find
out the langth of the bridge.

Ans. X 1.150m
X 2 160 m
X 3.170m
o 4 180m

Question 1D : 26433075415
Slatus | Answered
Chosen Option: 4

Q.17 A dealer marks his goods 15% above the cost price. Then he allows 20% discount on
it. What will be his loss percentage?

Ans X 1.7%
o 2.B%
X 3.5%
X 4.8%

Question 10 - 26433082970
Status - Answered
Chosen Option : 2




Q.18 Number 350 is increased by 20% and then decreased by 25%. Find the new number.
Ans X 1.320

2 2 3244
X 3340

o 4315

Question 10 : 26433080004
Status | Answered
Chosen Option ; 4

.19 The average cost of 10 items is Rs.89. If one item costs Rs.35, then find the average
cost of remaining 9 items {in Rs.).

Ans X 1.90
o295
X 3.85
X 4.80

Question 1D - 26433075717
Status | Answered
Chosen Oplion : 2

Q.20 Due to lliness the weight of a person has reduced from 80 kg to 64 kg in a month. The
percent decrease in the weight of the person is:

Ans X 1. 16 percent

75 214 percent
75 3. 24 percent

& 4. 20 percent
Question 1D - 264330116794
Status : Answered
Chosen Option : 4
Section : Part-D-English

Q.1 Select the most appropriate meaning of the given idiom.
Bed of roses

Ans X 1. As one wishes
&% 2. Be bound to obey
" 3. A pleasant condition of fife

25 4. With all of ane’s belonging

Question 1D - 26433084689
Status - Answered
Chosen Option : 3




Q.2 Select the most appropriate meaning of the given idiom.
Bag and baggage
Ans X 1. Lois of bags
25 2. To make a beginning
25 3. Close friends

o 4. With ail belongings

Cluestion 1D : 26433072538
Status - Not Answerad
Chosen Option © --

Q.3 Select the most appropriate option to fill in the blank.

Alas! The forest turned into a land.
Ans o 1. bare

75 2. beer
75 3. bear
75 4. buyer

Question 1D - 26433090391
Status © Not Answered
Chosen Oplion © ==

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there Is no need to substitute it, select ‘Mo substitution’.
The turtle can live in water as well as land.

Ans % 1. Mo substitution
25 2.and also land
25 3. akoon land

o 4. as wellas on land

Question 10 : 26433093077
Siatus - Answered
Chosen Option : 4

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Baldness Is quite very usual among youngsters these days.
Ans X 1. happening very surely
XX 2. having very certain
«" 3. getting very comman

25 4. hitting very severaly

Cluestion 1D : 26433088503
Status - Not Answerad
Chosen Option © --




Q.6 Select the most appropriate synonym of the given word.
Conceal

Ans X 1. Manifest
&5 2 Disclose
75 3. Confess
o 4. Hide

Question 10 - 26433084681
Status - Answered
Chosen Option : 4

Q.7 Select the most appropriate ANTONYM to substitute the underlined word in the given
sentence.

Her lively demeanour makes her the ideal choice for this job.
Ans X 1.dreamy

5 2. slimy
25 3. grainy
o 4. gloomy

CQuestion 1D : 26433074010
Status | Answered
Chosen Oplion © 1

Q.8 Select the most appropriate ANTONYM of the given word.

Cruel
Ans X 1. Trunk

2 2. Brutal

& 3. Kind
75 4. Savage

Question 1D : 26433086374
Slatus . Answered
Chosen Option : 3

Q.9 Select the INCORRECTLY spelt word.
Ans % 1. Dribbling

¥ 2. Slice
X 3 Temperament
o 4. Solvant

Question 1D : 26433073501
Status | Answered
Chosen Option ; 3




Q.10 Select the most appropriate ANTONYM of the given word.
Steadfast
Ans o 1. Dishonest
25 2. Unwavering
25 3. Immobile
75 4. Dependable

Cluestion 1D : 26433072216
Status - Not Answerad
Chosen Option © --

Q.11 Select the most appropriate option to fill in the blanks and make the sentence
meaaningful.

They wereanot _ to eat during the
Ans X 1. allowed: brake
25 2. aloud; break
o 3. allowed; braak
25 4. aloud; brake

Question 1D : 26433092101
Status : Marked For Review
Chosen Option ; 3

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

The possible results of an action
Ans X 1. Implementation

25 2. Decision
& 3. Ramification
25 4. Causation

Question 1D : 26433089380
Status | Not Answered
Chosen Option ; --

Q.13 Select the most appropriate synonym of the given word.

Bankrupt
Ans X 1. Weloff

25 2. Invert
& 3. Insolvent

5 4. Careless

Question 10 : 26433072187
Status - Not Answerad
Chosen Option © ==




Q.14 Select the INCORRECTLY spelt word.

Ans X 1. lgnorance
25 2. Mizspell
75 3. Harass

" 4. Ccoasslon

Question 10 : 26433073738
Status | Answered
Chosen Option : 3

Q.15 The following sentence has been split into four segments. ldentify the segment that
contains an error.
MNandu will ! leave for the airport / as soon as ! a taxi arrive.

Ans & 1. ataxiamive
25 2. |leave for the airport
25 3. MNandu will

25 4. as soonas

Question 1D : 26433099601
Status | Answered
Chosen Option © 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A natural gas barrier in the upper atmosphere called the ozone layer (1.} peaple
and other living things from the sun’s harmful ultraviolet (UV) radiation. Ozone exists in timy
concentrations (2.} the atmosphere, but the majority (about 20%) is found in the
stratosphere, a layer that is 10 to 50 Kilometres (3.} the surface of Earth. The
ozone layer is essential to life on Earth because it(4.) out the majority of the sun's
harmful UY rays. In the 1970s, researchers {5.) that the czone layer was
thinning.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1 attracts

25 2. flourishes
75 3. discovers

o 4. shiglds

Cluestion 1D : 26433089803
Status | Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A natural gas barrier in the upper atmosphere called the ozone layer (1.} people
and other living things from the sun’s harmful ultraviolet (UV) radiation. Ozone exists in tiny
concentrations (2.) the atmosphere, but the majority {about 80%) is found in the
stratosphere, a layer that is 10 to 50 kilometres (3.} the surface of Earth. The
ozone layer is essential to life on Earth because it (4.) out the majority of the sun's
harmful UV rays. In the 1970s, researchers {(5.) that the czone layer was
thinning.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. below

o 2. In
75 3. throughout
X 4. under

Question 1D - 26433089804
Status - Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A natural gas barrier in the upper atmosphere called the ozone layer (1.} peaple
and other living things from the sun's harmful ultraviolet (UY) radiation. Ozone exists in tiny
concentrations (2.} the atmosphere, but the majority (abouwt 80%) is found in the
stratosphere, a layer that is 10 to 50 kilometres (3.} the surface of Earth, The
ozone layer is ezsential to life on Earth because it (4.) out the majority of the sun's
harmful UV rays. In the 1970s, researchers {5.) that the czone layer was
thinning.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1. into

75 2. onto
o 3. abova
X 4. at

Question 1D : 26433089805
Status | Answered
Chosen Option - 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A natural gas barrier in the upper atmosphere called the ozone layer (1.} people
and other living things from the sun’s harmful ultraviolet (UV) radiation. Ozone exists in tiny
concentrations (2.) the atmosphere, but the majority {about 80%) is found in the
stratosphere, a layer that is 10 to 50 kilometres (3.} the surface of Earth. The
ozone layer is essential to life on Earth because it (4.) out the majority of the sun's
harmful UV rays. In the 1970s, researchers {(5.) that the czone layer was
thinning.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1 blames

75 2 builds
25 3. brims
o 4. blocks

Question 1D - 26433089806
Status - Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A natural gas barrier in the upper atmosphere called the ozone layer (1.} peaple
and other living things from the sun's harmful ultraviolet (UY) radiation. Ozone exists in tiny
concentrations (2.} the atmosphere, but the majority (abouwt 80%) is found in the
stratosphere, a layer that is 10 to 50 kilometres (3.} the surface of Earth, The
ozone layer is ezsential to life on Earth because it (4.) out the majority of the sun's
harmful UV rays. In the 1970s, researchers {5.) that the ozone layer was
thinning.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1.learning

25 2. learns

o 3. learnt

5 4. learn

Question 1D : 26433089807
Status : Answered
Chosen Option - 3
Section : Part-D-Hind]
Q1 Ffafea gemy & g guge wids o= 2-
At aTg ST

Ans X 1. A ® OIE T
2 z. gU BT ES W
2 4. T 3 e &1 55 e

Question 10 : 26433065776
Status - Not Answerad
Chosen Option © ==




Q.2 s 1 H T 21 A # WY T W o s wes 9y -

Ans X 1. aFEM
oF 2.
5 3. 8ET
X 4. s
Cuestion 1D : 26433069745
Status - Not Answered
Chosen Option © --
Q.3 PofafEad @ ey 3§ 5 fEden o= T8 # -
Ang X' 1 Gl
X o e
X 3. fosm
o 4 T
Cluesticn 10 : 26433085056
Status - Not Answered
Chosen Option & -
£t
Q4 3w freerg # fnfére 7 sfanerft @o &1 Fe11 A9 | S qAAT aTE0 TS # -
Ans X 1 fErfEET
X 2. fomem
X 3 EA T F
o 4. et
Cuestion 1D : 26433069698
Status : Not Answerad
Chosen Option ; ==
_ = &
Q.5 gw firm, wym deonds fir o R wonds e =1 ot o= g9
Ans 1 FOGHT — T - FEAL
&5 2 AT — AT - T
o 3. 3T - T - Foa]
25 4 T — G - A
Cuestion 1D © 26433063044
Status : Not Answered

Chosen Option ©




Q6 Fug '
Swes AT # i T o1 guge frwes B A @ weme
Ans X!.Hﬂﬁﬁ?ﬁ?%ﬁmﬁm
2 2. %1 3 g1 & S URd & e
WERE ke
X 4. w1 o g § 9 9e @1 3R

Question 1D - 26433067041
Status © Not Answered
Chosen Oplion © ==

Q.7 fams @veq 7 & 9% T F fig 3fa o= aasu -
Ans X 1 Eizd

X 2 EvEg
o 3. HETEAT
2 4. wHm

Q8 YEifed w=-uqg & fow waifie sugw e g1
&1 AR 9% {3 3T I ux o @

Ans X 1.3
o 2. 3T
P R
X 4 o

Q.9 THEEH T wia gl
Twifd T & fawm w=s &1 999 Fifa)
Ans X1 Hfad
X 2. T
V3 uT
X 4 wH

Question 1D : 26433065906
Status | Not Answerad
Chosen Option © ==

Cuestion 1D : 26433062287
Status | Not Answerad
Chosen Option ; ==

Question 1D : 26433079643
Status | Not Answerad
Chosen Option | --




Q.10 g uisi uv waK B9 & g7 Iw 78l
IUTEd 9Td | Y@ited I ¥ 6 $19 - W1 w= Suge e

Ans 20 1 fE A
o 2. 5 I
X 3. TaEnt i
X 4 HFE A

Question 1D - 26433063059
Status | Not Answerad
Chosen Option © ==

Q.11 gz ¥ gg # o geray T aet A § -
Ans o 1, STt B AT B B

X 2. 5¢ B o Eeen

X 3| H o e

X 4. Toma e

Q.12 FofafEs o | F agfE wee-
oE AT A H T T
Ans X 1 G

7 2T
3T
X 4.T9%

Q.13 Pafata e F fe sugss = &1 997 e § @ Fifem)
e T foelt e & forn (o) 2

Ans ‘gﬂ.ﬁrﬂﬁ
X 2. fomafm
X 3. anrEmEt
25 4. st

Question 1D : 26433065923
Status | Not Answered
Chosen Option ; --

Question 1D - 26433066827
Status ¢ Not Answered
Chosen Oplion ;==

Question 10 : 26433069997
Status - Not Answerad
Chosen Option © ==




Q.14 fEamEy YRa S A B
TaifFa v F afim waivarEt w= 51 999 Fifem
Ans X 4. TM]
* 3T
> 4, aTEa
Question 1D - 26433079626
Status : Mot Answered
Chosen Oplion © ==
Q.15 ‘ITFT U= $ 00 379 | IUged yuigar U= S14-91 87
Ans o 3O
> 2 AT
X 3T
4T
Question 1D : 26433066893
Status : Not Answerad
Chosen Option © --
Comprehension:
e e & 9 oo we @1 g fam T 2 e i i a8 e wi F 51 e e & T
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Question 1D - 26433072588
Status © Not Answered
Chosen Oplion © ==




Comprehension:
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SubQuestion No : 17
Q17 frea v 2 % fore walfie Suges e 5 @ 51 g
Ans X1 T
X 2 A
o 3. TE
X 4. wem

Question 1D : 26433072589
Status | Not Answerad
Chosen Option | --

Comprehension:
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SubQuestion No : 18
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Question 1D : 26433072590
Siatus - Not Answerad
Chosen Option & ==




Comprehension:

g i & § oo weal & 9ol faan T §1 e & i g Ty wet F 37 from s &
T TS 1 99 fawedl 8 § ®iegl
TAEF 1. Tamre & o o Fain W s £ e ven adam § Hifgs e
W B SF Tt HAIH | wid T & W W0 81 161 8, 39 8 adAH @1 gad a8t
TgEOEd 98 & i St & =i B & f Ot ioe rm o) e e efmes = g
2. 1 T WG 21 WA & 0 1 98 U 7eE 3. I 21 o-5AE §
p, TP, 4. Ud OfaR & Wi §AW T Sae £ SEE I8 w0 9 &y S U Oy
ﬁmwgumﬂwﬁrﬁﬂwmmmﬁmﬁmﬁaﬁaﬁmﬁmm&.

[
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Question 1D : 26433072591
Status | Not Answerad
Chosen Option | --

Comprehension:

e e & 9 oo we @t e fam T 2 e i N OS e ow # 5 frae =T 3 R
I Teg B 994 [adedi | § S|
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Constable GD in CAPFs SSF Rifleman GD in Assam Rifles and
Sepoy in NCB Examination 2022

Roll Number

Candidate Name

Venue Name {TCS Gito Bitan

Exam Date 10/01/2023

Exam Time 2:30 PM - 3:30 PM

Subject Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically followsfollow from
the statements.

Statements:

All fans are bulhs.

All bulbs are tube lights.
Some tube lights are new.
Conclusions:

I. All fans are new.

Il. All tube lights are fans.

Ans X 1. Only conclusion || follows.
2 2. 0Only conclusion | follows.
o 3. Neither conclusion | nar || follows

7% 4. Both conclusions | and || follow.

Cuestion 1D - 26433070381
Status - Answered
Chosen Option - 3




Q2 Select the figure that will come next in the following series.

HEECEE
i
°E:
[ B
[

Ans

Question ID - 26433072024
Status - Answered
Chosen Option - 1

Q.3 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

ROOT : QQTV :: STEM : VGUO :: LEAF : 7

Ans o 1. GCNH
2 2 GCHN
2 3. GDNH
2% 4. NGCH

Question 1D - 26433057247
Status - Answered
Chosen Option - 1

Q.4 Which letter-cluster will replace the guestion mark (7) to complete the given series?
AJRZ, DMTC, 7, JSXI, MVZL

Ans X 1. GRVF
2 2 HRWF
25 3. HPVF
o 4. GPVF

Question 1D - 26433067947
Status - Answered
Chosen Option - 1




Q.5 'A+ B means "A is the son of B
‘A — B' means “A is the sister of B’
‘A x B" means 'A is the brother of B’
‘A + B' means “A is the wife of B'
If A+ B+ C = D-E +F then which of the following statements is NOT correct?

Anz X 1.Aisthe grandson of F
75 2 Ads the son of G,
" 3. E iz the brother of B
25 4. Dis the daughier of F.

Question 1D - 26433090050
Status - Answered
Chosen Option : 3

Q.6 In a certain code language, ‘'FINGER' iz written as '"HHPIDT' and "‘DESTINY" is written
as " FDUVHPA'. How will '"GRANTED" be written in that language?

Ans o 1. [TZPVDF
2 2 HTZPVCE
2 3. 10CMVDF
X 4. HTCOVCE

Question 1D - 26433081767
Status - Answered
Chosen Option - 3

Q.7 Which two signs should be interchanged to make the below equation mathematically
correct?
136+ 17+ 102 -3 x 2 =187

Ans X 1. +and=
X 2 <andx
& 3 xand-
o 4 =and -

Cuestion 1D - 264330117569
Status - Answered
Chosen Option - 4

Q.8 Seven people A, H, D, F, T, E, and G are sitting in a straight row, facing north. Only
three people sit to the left of E. G and H are immediate neighbours of E. A sits at the
extreme right of the row. D is the immediate neighbour of A. F sits second to the left of
E. Who sits at the extreme left of the row?

Ans 1T
X2D
*Xaa
X 4F

Question 1D - 26433095009
Status - Answered
Chosen Option - 1




Q.9 & Friends F, U, K, 3, M, and A, are sitting around a circular table facing the centre. A
and S are immediate neighbours of K. F is sitting opposite to K. 3 is not a neighbour of
F. M is an immediate neighbour of A and F . Who is the immediate neighbour of A and
F if M and 5 exchange their positions?

Ans X 1.U
2K
& 3.5
xam

Question 1D - 26433068077
Status - Not Answered
Chosen Option © ==

Q.10 In a certain code language, find a solution' is coded as "418', ‘be attentive’ is coded as
'29" and "answers are correct’ is coded as "737. How will ‘check the question’ be coded
in that language?

Ans ¢ 1.835
¥ 2 437

" 3.538
X 4549

Question 1D - 26433067779
Status - Answered
Chosen Option - 3

Q.11 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(216, 12, 15)
(432, 23, 31)

Ans o 1.(304, 14, 24)
5 2.(380, 24, 18)
25 3. (150, 11, 14)
X 4.(484. 16, 32)

Cuesion 1D - 26433076475

. Mot Attempted and
" Marked For Review

Chosen Option © ==

Status

Q.12 Which option represents the correct order of the given words as they would appear in

the English dictionary?

1 Seminar

2 Semolina

3 Senior

4 September

3 Serious

Ans X 1.54321

213425
o 312345
2453412

Cuestion 1D : 26433069306
Status - Answered
Chosen Option - 3




Q.13 Which of the following numbers will replace the question mark {?) in the given series?
3, 21,147, 7, 7203
Ans X 1.882

25 21323

X 31218

o 4. 1029

Question 1D - 26433092490
Status - Answered
Chosen Option : 4

Q.14 Select the option that is related to the third word in the same way as the second word

is related to the first word.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/ivowels in the

word.)
Mumbai : Maharashira :: Bhopal : 7

Ans o 1. Madhyz Pradesh
75 2. Delhi

75 3. Uttar Pradesh
25 4. Andhra Pradesh

Question 1D - 26433087260
Status - Answered

Chosen Option - 1

Q.15 Select the number from among the given options that can replace the gquestion mark

{7} in the following series.
213, 216, 225, 240, 261, 7

Ans X 1.285
" 2. 288
X 3. 289
7 4. 768
Question |D - 26433078921
Status - Answered
Chosen Option - 2

Q.16 Which of the following terms will replace the q.lesiiun mark {7} in the given series?
LPKT, NNMR, PLOP, 7, THSL

Ans o 1. RJOM
25 2. 5JaN
& 3.8Ja0
2 4 RIGN

Question 1D - 26433080688
Status - Answered

Chosen Option : 4




Q17 Select the option figure which is embedded in the given figure. (Rotation is
NOT allowed)

Ans

CQuestion 1D - 26433085754
Status : Answered
Chosen Option : 2

Q.18 Select the comect combination of mathematical signs to replace the * signs and balance the given equation,
%89 * 5§ * |5 4 32 & g #+ |3

Ans X1_+ =+ -_ * =

T T r r
- T R R

KNa T+ — - ¥ o=

b T * *

fq-_rxr+:+r=

Question 1D - 26433085357
Status - Answered
Chosen Option - 4




Q19 Three different positions of the same dice are shown. Find the number on the face

Ans

opposite the face showing “4°.

*x1z2
23
X35
x4

Cuesfion 1D : 26433090076

Status - Answered

Chosen Option : 2




Q20 gelect the option figure which is embedded in the given figure, (Rotation is
NOT allowed)

|
Nt
g - \J
) /

/
i

b S
A ]

(A
Y

Question 1D - 26433085752
Status - Answered
Chosen Option - 1

Section : Part-B-General Knowledge and General awareness

Q.1 In the Indian Consfitution "the abolition of untouchability” provision is mentioned in

Ans X 1. Aricle 14
" 2. Article 17
2% 3, Ariicle 19
5 4. Article 32

Question 1D - 26433090671
Status - Answered
Chosen Option - 2




Q.2 What is the colour of the flame when magnesium burns in the presence of oxygen?
Ans X 1. Yellow

# 2 Red
o 3. Whits
75 4. Gresn

Question 1D - 26433087842
Status - Answered
Chosen Option - 4

Q.3 Who among the following Gupta rulers was hailed as "Indian Napeoleon' because of his
military achievements?

Ans X 1. Chandragupta |
25 2. Chandragupta Il

75 3. Sngupta
" 4 Samudragupta

Question 1D - 264330115455
Status - Answered
Chosen Option - 4

Q.4 E.Krishna lyer is associated with which form of dance?
Ans X 1. Kathak

25 2. Odissi
2% 3. Kuchipudi
" 4. Bharatanatyam

Question 1D - 26433086576
Status - Answered
Chosen Option - 4

Q.5 In India, the population census is conducted once every
Ans X 1.5years

75 2. 12 years
' 3. 10 years
7% 4. 15 years

Question 1D - 264330116024
Status - Answered
Chosen Option : 3

Q.6 Which of the following country is not a part of the Lusofonia Games?
Ans X 1.Portugal

o 2. Germany
75 3. India
7 4. Macau

Question 1D - 264330115941
Status - Answered
Chosen Option - 3




Q.7 Radio broadcasting started in India in 1923 by the .
Ans. " 1. Radio Club of Bombay

25 2. Lions Club of Bombay

7 3. Rotary Club of Bombay

75 4. Rotaract Club Of Bombay

Question 1D - 264330115603
Status - Answered
Chosen Option - 1

Q.8 Which Article of the Constitution of India talks about Superintendence, direction and
control of elections?
Ans o 1. Article 324

X 2. Article 333
X 3. Arlicle 356
2 4. Ariicle 367

Question 1D - 26433074899
Status - Answered
Chosen Option - 1

Q.9 As of November 2022, who among the following is the Lieutenant Governor of Delhi,
India?

Ang X 1. Anil Baijal

o 2. \Vinai Kumar Saxena

X 3. Arvind Kejriwal
2 4. Manaj Sinha

Question 1D - 264330114937
Status - Answered

Chosen Option : 2

Q.10 While computing the national income, is taken as a factor.
Ans X 1.Chemical used

2 2. Electricity bill

" 2. Export

5 4. Road construction

Question 1D - 264330115356
Status - Answered
Chosen Option - 3

Q.11 Which among the following festival marks the menstruation period of the Goddess
Kamakhya in Assam?
Ans X 1. Moatsu
7% 2. Chapchar Kut
75 3. Wangala
o 4. Ambubachi Mela

Question 1D - 264330115113
Status - Answered

Chosen Option - 4




Q.12 The industry covers a wide range of products from transistor sets to
television.

Ans X 1. fedilizer
75 2. canal irmigation
" 3. elecironics

7 4. Jute processing

Question 1D - 264330115401
Status - Answered
Chosen Option © 3

Q.13 Three of the following four are examples of Coelenterata phylum, and therefore form a
group. Which is the one that does not belong to that group?

Ans X 1. Sea-pen
o' 2. Liver fluks
2% 3. Brain coral
75 4. Sea ansmong

Question 1D - 264330115186
Status - Not Answered
Chosen Option :© ==

Q14 launched on 23th June 2015 , intends to provide housing for all in urban
areas by year 2022,

Ans X 1. 0O-SMART Scheme
7% 2. Pradhan Mantri Garib ¥alyan Anna Yojana
" 2. Pradhan Mantri Awas Yojana {Urban)
2 4. Global Housing Technology Challenge

Question 1D - 264330116161
Status - Answered
Chosen Option - 3

Q.15 In which of the following places was the Indian Grand Prix-4 held in June 20217
Ans 2 1. Ludhiana

" 2. Patiala
& 3. Amritsar
25 4. Jalandhar

Question 1D - 26433072892
Status - Not Answered
Chosen Option © ==

Q16 A is a barrier across flowing water that obstructs, directs or retards the
flow, often creating a reserveir, lake or impoundment.

Ans X 1. meander
" 2. dam
25 3. tributary
X 4. moat

Question ID - 26433092218
Status - Answered
Chosen Option - 2




Q.17 Who won the Sangeet Natak Akademi Award in Bharatnatyam in 20187
Anz X 1. Madambi Subramanian Namboodiri

" Z. Radha Sridhar
7% 3. Pasumurihy Ramalinga Sastry
75 4. Akham Lakshmi Devi

Question 1D - 264330115815
Status - Not Answered
Chosen Option © ==

Q.18 Which Union Minister launched the India water pitch-pilot-scale start-up challenge in
March 20227

Ans X 1. Kasushal Kishore
X 2. D Thara
25 3. Manoj Joshi
" 4 Hardeep Singh Pun

Question 1D - 26433081828
Status - Answered
Chosen Option - 3

Q.19 Swami Dayanand Saraswati founded the , an organisation that attempted to
reform Hinduism.

Ans o 1. Arya Sama
25 2. Adi Hindu Samaj
X 3. Vedant Samaj
25 4. Adi Dharam Samaj

Question 1D - 264330103802
Status - Answered
Chosen Option - 1

Q.20 As per RBI, in India, services sector accounted for of the GDP in the
1980s.

Ans X 1.58.6 per cent
o 2. 38.6 per cemt
25 3. 18.5 per cent
75 4. 786 per cent

Questicn 1D - 264330116114
Status - Answered
Chosen Option - 1

Section : Part-C-Elementary Mathematics

Q.1 The value of an article depreciated from 15,000 to 14,580 in 2 years. Find the yearly
rate of depreciation in the value of the article.

Ans @ 1.10%
X212%
X 3. 9%
>4 8%

Question ID - 26433082406
Status - Not Answered
Chosen Option © ==




Q.2 Ramu and Mohan can separately complete a work in 10 hours and 16 hours,
respectively. After working for 2 hours together, Mohan leaves the work. In how many
hours will Ramu finish the remaining work?

Ans 1
N 66—
4

V2 63
4

Question 1D - 26433075573
Status - Not Answered
Chosen Option © ==

Q.3 A car covers a cerfain distance in 3 h with a speed of 108 kmvh. If the speed is reduced
by 27 km/h, then the time taken by the car to cover the same distance will be:

G X Zéh

X2 2h
: 1

v+ 4h

Question 1D - 26433087375
Status - Answered
Chosen Option - 4

Q.4 Rahul travels a certain distance af a speed of 4 km/h and returns at a speed of 3 km/h
via same route. What was his average speed for the entire journey (correct to 2
decimal places)?

Ans & 1. 323 kmvh
& 2592 kmh
3123 kmh
25 4 25kmh

Question 1D - 26433065293
Status - Not Answered
Chosen Option © ==

Q.5 Rohan divides his complete journey in three equal parts and covers the first part at a
speed of 30 km/h, the second part at 40 km/h and the last part at 50 km'h with his car.
What is the average speed (in km/h) of his car during his entire journey?

Ans 14
- 33:_}'

> 3514
> o2 35 pr

X3 40
X4 45

Question ID - 26433073541
Status - Not Answered
Chosen Option © ==




Q.6 A can do a piece of work in 8 days and B in 24 days. They begin together, but 4 days
before the completion of the work, A leaves. Find the number of days taken by A and B

to complete the entire work.
Ans X 1.11days

75 2. Bdays
o 3.9 days
75 4.7 days

Question 1D - 264330116845
Status - Answered
Chosen Option - 2

Q.7 A thief started his journey at a speed of 60 kmv'h. After 30 minutes, police started from
the same place but at a speed of 80 km/h. How much time {in hours) will the police
take to catch the thief?

Ans 3
« 1. = hours
2

* 2. = hours
¥ 3. = hours

X 4. = hours

B W | b

Question 1D - 26433081044
Status - Answered
Chosen Option - 1

Q.8 What is the difference between the compound interest on Rs.5,730 for one year at 16%
per annum compounded yearly and compounded half-yearly?

Ans X 1.Rs49.78
o 2. Fs.36.80
X 3.Rs.29.50
X 4.Rs.32.58

Cuesfion 1D : 26433064989
Status - Not Answered

Chosen Option © ==
Qs
Evaluate the following expression.
=T T (R 2
el - ix (2 - (D)
Ans 1 -3
1
> 2 c
Pl 1
3]
X435

Question 1D - 26433090248
Status - Answered
Chosen Option - 1




Q.10 The volumes of two cones are in the ratio of 3 : 2 and their radii are in the ratio 3 : 4.
The ratio of their heights is:

Ans g 1.8:3
K24
X a8

2 4.2

Question 1D - 26433075481
Status - Not Answered
Chosen Option © ==

Q.11 In an election, there were two candidates A and B. The total number of voters in the
constituency was 90000 and T0% of the total votes were polied. If 60% of the polled
votes were cast in favour of A, how many votes were received by B?

Ans X 1.28500
o 2. 25200
7 3.28700
X 428800

Question 1D - 26433079770
Status - Not Answered
Chosen Option © ==

Q.12 The curved surface area of a sphere is 1386 cm?2 . The volume of this sphere is:
Ans ¢ 1 4815 cm?

o 2. 4851 cm®

¢ 3. 24255 cm®

X 41617 cm?

Question 1D - 26433087406
Status - Not Answered
Chosen Option © ==

Q.13 The ratio of milk and water in two containers of 20 litres and 36 litres are in the ratio 3
T and T : 3, respectively. What will be the ratio of milk and water if the two containers

are mixed together?
Ans X 1.9:13

o 227:29
¥ 3.21:23
¥ 4.21:35

Question 1D - 26433091899
Status - Not Answered
Chosen Option - ==

Q.14 The square of 28 is divided by the largest number that can exactly divide both 42 and
36. What is the result?

Ans X 1.28
X214
X 342
o 4. 56

Question 1D - 264330116654
Status - Answered
Chosen Option - 1




Q.13 A table whose marked price #300 is sold at two successive discounts of 20% and 10%.
If in addition, a discount of 3% is offered on cash payment, then the cash price for the
table is:

Ans 1. 3210.25
X 2.3216.50
X 3. 3240.25
v 4 3205.20

Question 1D - 26433082095
Status - Not Answered
Chosen Option © ==

Q.16 The price of petrol is raised to Rs.96.5 per litre from Rs.92 per litre. What is the
percentage increase in price of petrol?

Ans X 1.4.5%
X24T%
o 3.4.9%
X 4.51%

Question 1D - 26433071246
Status - Not Answered
Chosen Option © ==

Q.17 The third proportional to 24 and 36 is:
Ans X 1.45

264
o 3.54
¥ 4.48

Question 1D - 26433074993
Status - Not Answered
Chosen Option - ==

Q.18 Under a discount scheme, after allowing a discount of 20%, there is still a gain of 10%.
The marked price is what percentage more than the cost price?

Anz X 1.308%
o 2.37.5%
% 3. 40%
* 4. 35:2%

Question 1D - 26433083042
Status - Not Answered
Chosen Option © ==

Q.19 Harshi bought a new sweatshirt at the store, when they were giving a 40 percent
discount. If the marked price of the sweatshirt was Rs. 2999, then how much did
Harshl pay with the discount?

Ans X 1.Rs. 2099.20
o 2. Rs. 1729.40
X 3.Rs. 2399.50
X 4.Rs. 1899.80

Question 1D - 264330116730
Status - Not Answered
Chosen Option © ==




Q.20 A man sold two chairs for Rs.473 each, gaining 25% on one and losing 20% on the
other. Had he sold the two chairs for Rs.575 each, what would have been his gain/loss
percentage (rounded off to the nearest integer)?

Ans X 1.45% gain
" 2. 18% gain
2 3. 41% gain
¥ 4. 25% loss

Question 1D - 26433071284
Status - Not Answered
Chosen Option © ==

Section : Part-D-English

Q.1 Select the most appropriate option to fill in the blank.

We would to travel by train rather than bus due to the poor road conditions in
the village.

Ans g 1. prefer
X 2 assure
7 3. make it
7% 4 drop

Question 1D - 26433091877
Status - Answered
Chosen Option - 1

Q.2 Select the most appropriate option that can substitute the underiined segment in the
given sentence. '

The participants are rehearse their roles.
Ans X 1. are rehearsed
75 2. has been rehearsing
2 3. have rehearse
o 4. are rehearsing

Question 1D - 26433091869
Status - Answered
Chosen Option : 4

Q.3 Select the option with the correct spelling to replace the underlined word in the given
sentence.

She hit him in a moment of abomination.
Ans X 1. aberation

75 2. abberation
25 3. aberattion

" 4. abemration

Question 1D - 26433094408
Status - Answered
Chosen Option - 1




Q.4 Select the most appropriate ANTONYM of the given word.

Anxious
Ans X 1. Considerate

& 2. Unconcemed
75 3. Stealthy
25 4. Haughty

Question 1D - 26433074380
Status - Answered
Chosen Option - 3

Q.5 ldentify the correctly spelt sentence.
Ans X 1. My grandfather planted couliflower in the garden.

25 2. My grandfather planted kauliflower in the garden.
25 3. My grandfather planted cauleflower in the garden.

v <. My grandfather planted caufiflower in the garden.

Question 1D - 26433072831
Status - Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the underlined word.

Music is a therapy for everyone — plants, birds, animals and human-beings — to
flourish and rejuvenate.
Ans X 1. modify
75 2. prosper
o' 3. refreshen

7 4. fortify

Question 1D - 26433089100
Status : Answered
Chosen Option © 3

Q.7 Select the most appropriate meaning of the given idiom.
After one’s own heart
Ans X 1.Having a face as one's own
75 2. Having likes and dislikes dissimilar to one’s own
2 3. Having likes and dislikes far to one’s own

" 4. Having likes and disiikes similar 1o one's own

Question 1D - 26433072278
Status - Answered
Chosen Option - 4




Q.8 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don't find any
error, mark ‘Mo error’ as your answer.

Qur soldiers have being / making a clean sweep of the | sheep and poultry on the
route.

Ans X 1. MNoerror
7% 2. sheep and poultry an the route
W 2. Dur scldiers have being

5 4. making a clean sweep of the

Question 1D - 264330114510
Status - Answered
Chosen Option : 4

Q.9 Select the most appropriate ANTONYM of the italicised word in the given sentence.

It is absurd to argue about this.
Ans X 1.facetious

& 2 fundamental
' 3. reasonabls

25 4. amazing

Question 1D : 26433096209
Status - Answered
Chosen Option - 3

Q.10 Select the most appropriate option to fill in the blank.
men command respect.
Ans " 1. Holy
75 2. Holey

23, Hally
2 4. Whally

Question 1D - 26433073934
Status - Answered
Chosen Option - 1

Q.11 Select the most appropriate synonym of the given word.
Sumptuous
Ansz X 1. Mammoth
75 Z. Humble
7 3. Minuscule
" 4 Lavish

Question 1D - 26433073980
Status - Not Answered
Chosen Option © ==




Q.12 Select the most appropriate idiom to substitute the underlined group of words in the
given sentence.

Once in a year, the management of the institute surveys the whole situation.
Ans o 1. take stock of

25 2. perplexad with

25 3. makes a mark

75 4. comes to the front

Question 1D - 26433073878
Status - Answered
Chosen Option © 3

Q.13 Select the correct pair of words for the blanks in the given sentence.
My cousin likes root and around the bush is one of the idioms in
English.

Ans X 1.beat; beat
% 2. beat; best
w' 3. beet; beat

25 4. best; beet

Question 1D - 26433060543
Status - Not Answered

Chosen Option © ==

Q.14 Select the most appropriate homonym to fill in the blank.
He confessed about his affairs as the made him sleepless.

Ans o 1 puill
7 2. gilled
7 3. gid

75 4. guild

CQuestion 1D - 26433058525
Status - Not Answered

Chosen Option © ==

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence,

The students were boring by the lecture delivered on environmental issues.
Anz X 1. The students were bores
75 2 The students bored
7 3. The students were barring

o 4. The students were bored

Question |D - 26433091771
Status - Answered
Chosen Option © 2




Comprehension:
In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially {1} avoid such foods or try to reduce intake and instead, eat
healthy food for (2} growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (3) should be appoinied to check the calories content and food value of food
zerved in the canieens and setting definite fiffin patterns.

SubCuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.might
25 2. will
" 3. should
7% 4, shall

Question 1D - 26433089046
Status - Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially {1} avoid such foods or try to reduce intake and instead, eat
healthy food for (2} growth. Schools can (3) the guality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (3) should be appointed to check the calories content and food value of food
zerved in the canfeens and setting definite tiffin patterns.

SubCQuestion No - 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. elegant
" 2 proper
2% 3. interesting

7% 4. awkward

Question 1D - 26433089047
Status - Answered
Chosen Option - 2

Comprehension:
In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

Chiltdren especially {1} avoid such foods or try to reduce intake and instead, eat
healthy food for (2} growth. Schools can (3) the guality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)

home. (3) should be appointed to check the calories content and food value of food
served in the canieens and setting definite tiffin patterns.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1. allow

7 2. show
25 3. prociaim

" 4. monitor

Question 1D - 26433089048
Status - Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially {1} avoid such foods or try to reduce intake and instead, eat

healthy food for (2} growth. Schools can (3) the quality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)
home. (3) should be appoinied to check the calories content and food value of food
zerved in the canieens and setting definite fiffin patterns.
SubQuestion No : 19

Q.19 Select the most appropriate option to fill in blank number 4.

Anz X 1. through
75 2. with
W 3. from
25 4in

Question 1D - 26433089049
Status - Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

Children especially {1} avoid such foods or try to reduce intake and instead, eat
healthy food for (2} growth. Schools can (3) the guality of the food being sold in
the canteens and also ensure that the children bring wholesome nutrition food (4)
home. (3) should be appointed to check the calories content and food value of food
zerved in the canfeens and setting definite tiffin patterns.
SubQuestion No : 20

Q.20 Select the most appropriate option to fill in blank number 5.

Ans X 1. Technicians
o 2 Dieticians
7% 3. Paediatricians
2% 4. Opticians

Question 1D - 26433089050
Status - Answered
Chosen Option - 2

Section : Part-D-Hindi

Q1 ey 3 gaE # aga wS o
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T

Ans X 1 am ¥ gal @ 950 g0d @
7% 2. 7= = gl & aga e @l
X 3. 750 A YR @ wga e @i
o 4. 7T 7 G @ g e ol

Question 1D - 26433067027
Status - Not Answered
Chosen Option © ==




Q.2 are # it W i i3 e v ¥ @ af e @ ag
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Ans ¢ 1 BT
> 2.5
X 359
X 4. TETY

Question 1D - 26433062873
Status - Not Answered

Chosen Option © ==

Q3 Fmfafad s F g suge aris n= B-
o el & &1 e T

Ans 1 feedt
X 2. TR

3. Frardi
X 4 wndf

Question 1D - 26433065765
Status - Not Answered

Chosen Option © ==

a4 Fofafes o 8 e ae ot ofd sfm .

Ans X 1. v HiEd- Haw U
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Question 1D - 26433091326
Status - Not Answered

Chosen Option - ==

Q5 T % A USAT HewaT B S I 8-
Ans g 1. T @ AGT R

X2 FEAE
X 3. 9g0 W WY EA
X 4 TR T

Question 1D - 26433065879
Status - Not Answered

Chosen Option © ==

Q6 THiTt e AR maEnF YT 1 =0 -
qﬂm#ﬁqﬂm-ﬁsﬂ?m%l

Ans X 1 HRR-FEER
o 2 TO
b R AL e
X 4. IETTE 2

Question ID - 26433062885
Status - Not Answered

Chosen Option © ==




Q7 e Hd e T T Y= w1 Tuhar e T8 67
Ans 1. 9§

7 2 ifi

Xam

o 45

Question 1D - 26433067083
Status - Not Answered
Chosen Option © ==

as FefEEsd S g o v e it
ANs X 1. T e HTI7

o 2. 370 TE 7

X 3. 379 e A

P 4. ST T HTET?
Question 1D : 26433091312
Status : Mot Answered
Chosen Option : -
Q.9 maiﬂﬂﬁﬁﬁm'ﬁ_mtrmﬁﬁnmﬁgﬁm y—
1
Ans X 1. TFEEE
X 2. SFEEE T e
' 3. ITEHA 4w §
X4TEFREE

Question 1D - 26433062610
Status - Not Answered
Chosen Option © ==

Q.10 Tg ¥ Wl AUPIS = F U0 5 Haa 67 - I1999 & e oo T= 5
Ans 3 FE

o 2. o

X3 g

> A TEA

Question 1D - 26433065729
Status - Not Answered
Chosen Option © ==
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Question 1D - 26433062966
Status - Not Answered
Chosen Option © ==




Q.12 “fawedt wgred ar v = gy verd ar v ® e s arean & o v e ghm-

Ans X 1 THH
> 2 TEm
o 3. T
X 4. TEE
Cuestion 1D : 26433065727
Status - Not Answered
Chosen Option © ==
Q.13 Fr & & S0 W= 'FAv =g © vigar w8 8
Ans 1 ¥R
2 2. i
v 357
4.0y
Question 1D : 26433067085
Status - Not Answered
Chosen Option © ==
Q.14 Fmiaiad el & 4 919 91 U 990 UNE=e S419 § Saiud T8 87
Ans X 1. T TE e @ 27
¥ 2. TR @ e R P S e gy
X 3. T e e
o 4. Tl = o & ieew #i1e
Cuestion 1D : 26433091239
Status - Not Answered
Chosen Option - ==
Q15 mﬁmﬁmmmmﬁml
fir Fremdt w7 ST A9 FHEET)
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X 2. TE T A
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Cuestion 1D : 26433085086
Status - Not Answered

Chosen Option :




Comprehension:
ﬁuﬁsﬁmﬁ@zﬁﬁaﬁﬁaﬁmw%l o T e 1 wemm & fam = =
Wil T o e SuEs ey = 900 w1

3T T wE 1. | Tl S s 2, g;ﬂ
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Question 1D - 264330111119
Status - Not Answered
Chosen Option © ==

Comprehension:

Frafafan merw # g weal @) go fam ¢ Ry T e @ werde ¥ fraa w @ O
Ty | T T 3 o S SUgae el © 90T o

e L R AR
T TS 2 3, T Y
TE 4 aﬁanaitﬁm;i?ga# F1TTS & I UIaN & Ud® 958 @

ﬁﬁﬁﬁﬂm%mmm% ordins amﬁfﬁaﬁrqmﬁﬂﬁf‘s’tml g e =
5. TR

SubQuestion No : 17
Q.17 frea = 2 91 gid & fore e Sugw faem = 9= #fifem)
Ans o 1, HETOETH
X 2. 3EE
3 3. &
> 4. T

Question 1D - 264330111120
Status - Not Answered
Chosen Option © ==

Comprehension:
ﬁuﬁsﬁmﬁ@zﬁﬁaﬁﬁﬁmw%l o T e 1 W & fam = =
Dol Ui o e U feed @ o0 B

3T T wE 1. | T S s 2, g;ﬂ
mﬁﬁmﬁmﬁmmﬂl AEA 3. TS &1 6% 9 8 aui
T 4 T T HTETaEaT] a1 S 21 7S & 1 UiaN & UoE 9eeE dl
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SubQuestion No : 18
Q.18 fraa @ 3 91 ofd & forg e Suge fawew =1 907 Fifem)
Ans 1 A
> o
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Question 1D - 264330111121
Status - Not Answered
Chosen Option © ==




Comprehension:

ﬁuﬁ@ﬁmft?Wﬁﬁaﬁmw%l fau m faene o1 wem 9 faa = @t ol
Dol Hd® o e U feed @ a0 B

3T T wE 1. | Tl S s 2, g;ﬂ
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T4 T T HTETaEaT] ST S 21 7TE & 1 UIaN & UoE geeE &l
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SubQuestion No : 19
Q.19 fram w4 9t g & forg wad guyea fawew o1 9u= Fifem)

Ans 1 TR
X 2 W
X 3 "
2% 4 Tl g
Cuestion 1D : 264330111122
Status - Not Answered
Chosen Option © ==
Comprehension:
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Question 1D - 264330111123
Status - Not Answered
Chosen Option © ==
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tzn ; Part-&-General Intelligance and Reasoning

Q.1 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of

consonants/vowels in the word.)
Meghalaya : Shillong :: Kerala : 7

Ans X 1. Panaji

25 2. Chennai

o 3. Thiruvananthapuram
75 4. Bengaluru

Question 1D : 26433067371
Status | Answered
Chosen Option ; 3

Q.2 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number iz related to the third

number.
48 :5::30:3::57:7

Ans X 1.2
~e4
o 3.0
b

Question 1D : 26433069418
Status © Answered
Chosen Option - 3

Q.3 Which of the following numbers will replace the question mark {?) in the given series?
23, 27, 35, 7, 63, 83, 107

Ans o147
¥ 243
X 3.85
X 4. 30

Cluestion 1D : 26433068090
Status | Answered
Chosen Option : 1




Q4 gelect the option figure which is embedded in the given figure. (Rotation is NOT
allowed)

,f-i.

JPBLS

Question 1D - 26433069343
Status | Answered
Chosen Oplion ; 4

@.5 Which two signs should be interchanged to make the given equation correct?
561 +11=x22+6-25=158

Ans o 1 +and =
202 +and x
X 3. vamd+
254 +and-

Question 1D : 26433082742
Status | Answered

Chosen Option ; 1




Q.6 Three different positions of the same dice are shown. Find the number on the face
opposite the face showing ‘6 °.

Ans X 1.4
r S
X3
L5

Question 1D - 26433090066
Status | Answered
Chosen Oplion ; 4

Q.7 In a certain code language, “STATION' s written as 'UVYVGMP' and TRIUMPH' is
written as ‘VTGSORJ'. How will 'HOLIDAY" be written in that language?

Ans X 1. JMNGFXW
X 2. IMNGBXW
X 3. JMNGFCW
o 4. IMNGFYA

Question 1D - 26433081759
Status - Answered
Chosen Option : 4

Q.8 In a certain code language, TABLE' Is written as ‘EE@6#%", 'LARK' is written as ‘#@28'
and ‘BUCKET is written as ‘65+8%E". How will ‘CLARET" be written in that language?

Ang o | HEDIWNE
2 2. +#26%8
X 3. BE2%E+
25 4. BE@E%RE

Cuestion 1D : 26433069608
Status | Answered
Chosen Option © 1

Q.9 Which letter-cluster will replace the question mark (?) to compilete the given series?
CTUJ, EVWL, 7, IZAP, KBCR

Ans o 1. GXYN
X 2. FXYO
X 3. FXYN
X 4.GXY0

Question 1D - 26433067940
Status | Answered
Chosen Option : 1




Q.10 Which of the following numbers will replace the question mark (?) in the given series?
115, 102, 107, 94, 99, 7

Ans X 1.92

X 2.84
X 3.9
486

Question 1D - 26433076749
Status - Answered
Chosen Option : 4

Q.11 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

PENALTY : QFOBMUZ :: OFFENSE : PGGFOTF :: NERVOUS : 7

Ans X 1.VOUSNER
X 2. SUOVREN
X 3. RENVOUS
o 4. OFSWPVT

Question 1D - 26433069637
Status | Answered
Chosen Oplion ; 4

Q.12 There are 7 people sitting around a circular table facing towards the centre - A, B, C, D,
E, F, and G. A is sitting to the immediate right of C and immediate left of D. G is sitting
to the immediate left of C and immediate right of F. E Is sitting to the immediate left of
F and immediate right of B. B is sitting second right of A. Who iz the immediate
neighbour of A and B?

Ans X 1.5
X2 F
¥ aE
& 4.D

Question 1D : 26433074607
Status - Answered
Chosen Option : 4

Q.13 Which of the following terms will replace the question mark (?) in the given series?
MQEV, 7, QOIT, SNKS, UMMR

Ans X 1. OPHU
X 2. NPGU
" 3. DPGU
X 4. PPHV

Cluestion 1D : 26433068308
Status | Answered
Chosen Option : 3




Q14 Select the figure that will come next in the following series.

| E ?
xe H‘

Question 1D - 26433078968
Status | Answered
Chosen Option : 1




Q.15 Select the correct mirmor image of the given figure when the mirror i3 placed at MN as shown below.

PsyCHolLoGy |
M

Ans

+ yoodoHJye29
< yooldoHJy29q

<= yoodoHJYz29
. yoodoHJy2q

Chose

Question 1D : 26433085562

Status | Answered
n Oplion : 1

Q.16 Seven people A, B, C, D, E, F. and G are sitting in a straight row facing the North. A is
sitting in the centre of the row. G and E are sitting at the ends of the row. B is sitting to
the immediate left of A. F is sitting to the immediate right of G. D Is sitting to the

immediate left of E. C is sitting to the second left of E. Whao is sitting between G and
B?

Ans X 1.A
Xzoc

I F
X 4D

Question 1D : 26433074622

Status . Answered

Chosen Option: 3

Q.17 Which option represents the correct order of the given words as they would appear in
the English dictlonary?

1 inside

2 inertia

3 instruction

4 Insight

5 individual

Ans X 1.531.24
252143
X 3.51234
X 4.51342

Chosen

Question 1D : 26433069239

Status © Answered
Option : 2




Q.18

A (@ B means ‘A is the sister of B'.
A & B means ‘A is the brother of B,
A £ B means ‘A is the wife of B'.

A * B means ‘A is the mother of B'.
A+ B means ‘A is the father of B'.

FX+T*"MEGE&C*"K@H"Q, then which of the following statements is NOT
correct?

Ans

Ans. X 1.6 is the sen-in-law of T,

o 2. G Is the father of K.

5 3. Cis the mother of H.

7 4. ¥ is the maternal grandfather of M.

Question 1D : 26433068952
Status : Answered
Chosen Option : 2

Q.19

Three statements are given followed by three conclusions. Assuming the statements
to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements.

Statements:

Some computers are phones.

All phones are calculators.

All calculators are i-pads.

Conclusions:

1. Some |-pads are computers.

2. All calculators are phones.

3. Some i-pads are phones.

75 1. All conclusions follow.
&5 2. Only conclusions 1 and 2 follow.
75 3. Only conclusions 2 and 3 follow

& 4. Only conclusions 1 and 3 follow

Question 1D : 26433089424
Status - Answered
Chosen Option : 4

Ans

Q.20 Which two signs should be interchanged to make the below equation mathematically
corract?

48 -96 x4 +3+58=734

25 1. +and-

25 2. xand +
25 3 -and +
& 4.+ and =

Question 10 : 264330117499
Status | Answered
Chosen Option ; 4

Part-B-General Knowledge and General awareness




Q.1 Which of the following Articles of the Constitution of India deals with the state
executive?

Ans X 1. Articles 134-143
X 2. Articles 123-132
o 3. Articles 153-167
75 4. Aricles 145-150

Question 1D - 26433086852
Status - Answered
Chosen Option : 3

0.2 The 'Method of Election of the president’ in the Indian Constitution has been borrowed
from the constitution.

Ans & 1. Iriah
75 2. South African
25 3. German

25 4. United States of America

Question 1D : 26433064813
Status | Not Answerad
Chosen Option | --

C—
Q.3 Mohiniyattam is a solo classical dance form related to which of the following states?

Ans o 1 Kerala
&5 2 Uttar Pradesh

75 3. Karnataka
75 4. Bihar

‘Cuestion 1D 26433071658
Status : Answered
Chosen Option © 1

Q.4 Which Indian origin Sikh has been given New South Wales Australian of the Year
award 2023 for supporting the community affected by floods, bushfires, drought and
Covid-197

Ans XX 1. Mavjit Kaur Brar
&" 2. Amar Bingh
25 3. Jatinder Singh

25 4. Kamaljit &rora

Question 10 : 264330114989
Status - Not Answerad
Chosen Option © ==




Q.5 In India, in which year was the National Food for Work Programme scheme launched?
Ans X 1.2005

> 2.2000
& 3. 2004
> 4. 2003

Question 10 : 264330116078
Status - Not Answerad
Chosen Option © ==

Q.6 Makar Sankranti is celebrated as Pedda Panduga in which of the following states?
Ans o 1. Andhra Pradesh

75 2 Tamil Nadu
75 3. Karnataka
25 4. Kerala

Question 10 : 264330115106
Status | Answered
Chosen Option ;2

—_—

Q.7 Pick the odd one out (Hint: fiber crops)
Ans o 1, rubber

25 2. cotton

25 3. hemp

X 4. jute

Cuestion 1D © 264330115533
Status @ Answered
Chosen Option : 3
&Sl —_— —_—— = = = =
Q.8 The mode of nutrition in which organisms take in nutrients from dead and decaying
matter is called nutrition.

Ans X 1. Monotrophic
o 2. Saprotrophic
25 3. Autotrophic
25 4. Heterotrophic

Question 1D : 264330115254
Status | Answered
Chosen Option : 3

Q.9 ‘Mother of Mohiniyattam® is a docu-fiction based on
Ans % 1. Shovana Marayan

o 2. Kalamandaiam Kallyanikutly Amma
2% 3. Mahaboob Subhani

75 4. anuradha Pandey

Cluestion 10 ; 264330115878
Status | Answered
Chosen Option : 2




Q.10 Budget documents classify total expenditure into

Ans X 1.services and non- goods services

25 2. goods and incomes
75 3. part and whole expenditure

" 4. plan and non-plan expendiurs

Question 10 : 264330115286
Status | Answered
Chosen Option ; 4

Q.11 Which of the following was the main demand of the peasant movement of Kheda?
Ans ){ 1. Free irngation facility to be provided

75 2. Plantation system to be dropped
" 3. Revenue collection be refaxed

25 4. Hybrid seeds to be provided

Question 1D : 26433089883
Status | Not Answerad
Chosen Option © ==

_
Q.12 In India, during October-November, with the apparent movement of the sun towards
the south, the over the northern plains becomes weaker.
Ans X 1. Upper level trough
o 2. Mansoon trough
5 3. Lee trough
5 4. Inverted trough
Question 1D : 264330115988
Status : Answered
Chosen Option 1
Q.13 Techniques of making silk were first invented In China around years ago.

Ans X 120000
X 2. 15000
& 3. 7000
X 4.30000

Question 1D : 26433090573
Status | Not Answerad
Chosen Option © ==




Q.14 Which Union Minister of Government of India inaugurated the Tech Conclave 2022 in
March?

Ans X 1. Amit Shah
5 2. Smriti Irani
% 3. Rajnath Singh

& 4. Ashwint Vaishnaw

Question 10 - 264330114930
Status - Answered
Chosen Option @ 1

Q.15 Which of the following player was the highest scorer in the final mateh of ericket world
cup 19837

Ang & 1. Knshnamachar Srikkanth
75 2. Mohinder Amarnath
25 3. Sunil Gavaskar
75 4. Kapil Dev

Question 1D : 264330116295
Status | Answered
Chosen Option ;. 4

Q.16 Which country hosted the Asian Athletics Championship in 20197
Ans X 1. Bouth Korea

25 2 Jordan
75 3. Philippines
& 4. Catar

Question 1D 264330115925
Status : Not Answered
Chosen Option © =

Q.17 Lime stone is the raw material of , among the given industries.
Ans X 1. plastic industry

25 2. Furniture industry
o 3. cemant industry

75 4. electronic industry

Question 10 : 264330115394
Status | Answered
Chosen Oplion : 3




Q.18 The Supreme Court of India passed a judgment in in which it declared the
practice of Triple Talag as unconstitutional and the practice of the same be volid.

Ans X 1.2018
X 2.2014

o 3.2017
X 4.2013

Question 10 - 264330116224
Status - Not Answered
Chosen Option & -

Q.19 At independence, about percent of the India’s population was dependent on
agricultura.

Ans X 1.80

X 2.50

2 3,100
475

Question 1D : 264330116158
Status | Answered
Chosen Option © 1

Q.20 H,50y is the chemical formula for
Ans. o 1. Ol of Vitriol

X 2. Green Vitriol

&5 3. Muriatic Acid

25 4. Blue Vitriol

Question 1D : 264330115165
Status | Answered
Chosen Oplion : 3

Section - Part-C-Elementary Mathamalics

Q.1 A batsman makes a score of 97 runs in 15th inning and thus increases his average by
5. Find his average after 15th inning.

Ans X 1.15
X 282
327
X 4.92

Question 1D : 26433082642
Status | Answered
Chosen Option : 1




Q.2 The population of a town increased from 145000 to 200000 in a decade. What will be
the simple growth rate percent of population per annum?

Ans X 1. 4858 percent
5 2 5789 percent
" 3.3.793 percent
75 4. 2.165 percent

Question 10 - 264330116828
Status - Answered

Chosen Option : 3

Q.3 A can paint seven chairs in an hour and B can paint four chairs in an hour. Determine
how much time they will require to paint 55 chairs when they work together.

Ans X 1.7 hours
o 2. 5 hours
25 3.6 hours

25 4.4 hours

Question 1D : 26433074311
Status | Answered

Chosen Option ; 2

Q.4 A sum of Rs.1,875 at 4% per annum increased to Rs.2 028 In certain time. If interest is
compounded yearly, then what is the time period?

Ans X 1.2.5years

25 2.3 years
75 3. 3.5 years

o 4. 2 years

Cluestion 1D : 26433075677
Status | Answered

Chosen Option @ 4

Q.5 37 is what percantage of 557 (correct up to two decimal places)
Ans o 1.67.27%

> o2 6401%
> 3.69.41%
K o4.627T%

Question 1D : 26433080298
Status | Answered

Chosen Option © 1




Q.6 calculate the volume (in em® } of the cylinder having height 20 em and base radius 14
cm.

Ans X 1. 13,230 cm?®
X 2 13,300 cm?®
3 12,320 cm?
X 4. 12,200 cm?

Question 1D : 26433075821
Status | Answered
Chosen Option - 3

Q.7 The current population of a city is 125000. If the population grows at the rate of 2% per
year, what will be the population of the city after 3 years?

Ans X 1.133512
o 2. 132651
X 3. 130896
X 4132165

Question 1D : 26433080338
Status | Answered
Chosen Option ; 2

Q.8 The marked price of a washing machine is Rs.23,500 and the shopkeeper sold it for
R=.20.915. What is the percentage of discount offered by the shopkeeper?

Ans X 1.10%
X ozan
7% 3.12%
& 4. 1%

Question 1D - 26433075189
Slatus - Answered
Chosen Option © 4

Q.9 A dealer professes to sell his goods at a loss of 16%, but weights 750 gm in place of a
kg weight. Find his total profit percentage.

Ans X 1.15 Percent
25 2. 11 Percent
5 3,14 Percent

& 4. 12 Pamcent

Question 1D : 26433080170
Status | Answered
Chosen Option : 4




Q.10 The LCM of 32 and 40 equals to 9 less than the square of X. Find the positive value of
X

Ans X 1.14
Xazn

X312
413

Question 10 - 264330116647
Status - Answered
Chosen Option : 4

.11 A man buys a toy car for ¥135 and salls it for ¥150, find his gain percentage.

Ars X 1. 10.10%
Xz 10%
X3 11%

v 11.11%

Question 10 : 26433076173
Status | Answered
Chosen Option ; 4

Q12 1 curved surface aren o s cone is 4,455 coo? and jis dismeter is 105 am. What is s stant height? Take =%

Ans X 1.23cm
&2 2Mem
X 3.250m

o 4. 27 om

Question 1D : 26433076253
Status | Answered
Chosen Oplion ; 4

Q.13 In a linear race of 1000 m, Saloni beat Shwata by 100 m, while Shweta beat Sonam by
150 m. By how many metres does Saloni beat Sonam, in the same race?

Ans X 1.230m
X ozo2s0m
X325 m

o 4.236m

Question 1D : 26433080378
Status | Answered
Chosen Option : 2




Q.14 Four prime numbers are arranged In ascending order. The product of the first three
numbers is 255 and that of the last three is 1355, The largest prime number is:

Ans 123
P
A
5 429

Question 10 - 26433081471
Status - Answered
Chosen Option : 3

Q.15 A boy travelled from the home to the college at the rate of 35 km/h and walked back at
the rate of 3 km/h. If the whole journey took & h 30 min, then the distance of the college
from the home (correct to 2 decimal places) is:

Ans X 1.18.01km
25 2. 1758 km
X 31725 km
& 4. 17.96 km

Question 1D - 26433081594
Status | Not Answerad
Chosen Option © ==

Q.16 Aman, Ram, and Kapll can complete a work In 68 days, 51 days, and 17 days
respectively. If they work on alternate days such that Aman works on first day, Ram
works on second day, Kapll works on third day and then again Aman works on fourth
day and so on, then find the approximate number of days in which 50% of the work is
completed.

Ans. X 1.19 days
o 2. 16 days
¢ 3. 15 days
25 4. 18 days

Question 10 : 264330116908
Slatus © Not Answerad
Chosen Option & ==

Q.17 Find the mean proportional between 0.64 and 0.81.
Ans X 1.0.70

& 2.072
> 3,086
> 4,088

Question 10 : 26433080113
Status | Answered
Chosen Option : 2




Q.18 Two numbers are in the ratio 3 : 8. If 8 is added to each number, then the ratio
becomes 1: 2. If 4 is subtracted from each number, then the ratio will become:

e XL T2
X2 8:3
i 2:7
a4 38

Question 10 - 26433087371
Status - Answered
Chosen Option : 3

Q.19 A farmer has 10 Parrots and 40 horses. Find the average number of legs per animal.
Ans X 1.32

X234
o336
X438

Question 10 : 264330116693
Status | Answered
Chosen Oplion : 3

Q.20 With a 10% discount on the marked price, a seller earns a 5% profit. If the marked price
is increased by 5% and two successive discounts of 5% each are offered, how much
percentage profit does the seller earn?

Ans of 1 105%

2. 10%
253 1%
2 4. 11.5%
Duestion 1D : 26433085450
Status ;: Not Answered
Chosen Option © --
Section . Part-D-English

Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

As of now, they have finished the construction of the ground flour.
Ans X 1. construction of the ground flavor
o 2. construction of the ground floar
25 3. construction of the ground flower

75 4. construction of the ground flounder

Question 10 : 264330100991
Status | Not Answered
Chosen Option ; --




Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| was delight in the mament | saw her.
Ans X 1. delighted at

75 2 had delightful
25 3. was delighting

" 4. was dalighted

Question 1D : 26433088167
Siatus - Not Answerad
Chosen Option @ ==

Q.3 Select the most appropriate synonym of the word given in brackets to fill in the blank.

Jack met with alan (deadly) accident.
Ans X 1. vital

25 2. deaden

o 3. fatal
25 4. explicit

Question 1D : 26433089076
Status | Not Answerad
Chosen Option | --

Q.4 Select the most appropriate ANTONYM of the given word.

Solitary
Ans. X 1. Indiferent

X 2. Lone
" 3. Gregarious

25 4. Loan

Question 1D : 26433073867
Slatus © Not Answerad
Chosen Option & ==

Q.5 Select the most appropriate synonym for the underlined word in the given sentence.

The pearls produced in that oyster farm have lost all their lustre.
Ans X 1. front

o 2. shine
25 3. lustful
25 4. gloom

Cluestion 1D : 26433073753
Status - Not Answerad
Chosen Option © --




Q.6 Select the most appropriate option to fill in the blank.
The person in ragged clothes sleeping on the street is a man.

Ans X 1. cunning
&5 2 learned
o 3. homeless
75 4. wealthy

Question 1D - 26433085600
Status - Not Answered
Chosen Option & -

Q.7 Select the most appropriate synonym of the underlined word in the given sentance.

The country has an abundant supply of minerals.
Ans X 1. Artificial

75 2. Sparse

& 3 Ample
25 4. Matural

Question 1D : 26433072061
Status | Not Answerad
Chosen Option © ==

.8 Select the most appropriate meaning of the given idiom.
The whys and whereforas
Ans o 1. Underlying rsason
25 2. Summary
75 3. Interrogation

75 4. Minute observation

Question 1D : 26433072433
Status | Not Answered
Chosen Option : --

Q.9 Select the most appropriate ANTONYM of the given word.
Acceptance
Ans X 1. Stoppage
25 2. Allecation
& 3. Rejection
25 4. Trouble

Question 10 : 26433073797
Status - Not Answerad
Chosen Option © ==




Q.10 The sentence given below has one misspelt word. Spot the INCORRECTLY speit word
and select its correct spelling.

He wishes to be an orthopidic surgeon.
Ans X 1. Orthapedic
7 2 Onopeedic
" 3. Orthopaedic

5 4. Orthopadic

Question 1D : 26433073557
Siatus - Not Answerad
Chosen Option & ==

Q.11 The following sentence has been split into four segments. dentify the segment that
contains a grammatical error.
My aunt Geeta, / is knowing / my friend Rudransh / very well.

Ans X 1. very well
25 2. My aunt Geeta
o 3. Is knowing
25 4. my friend Rudransh

Question 1D : 26433086457
Status | Not Answerad
Chosen Option | --

Q.12 Select the INCORRECTLY spelt word.
Ans o 1. Spead

75 2. Task
X 3. salt
X 4 Brand

Question 1D : 26433073495
Status | Not Answered
Chosen Option : --

Q.13 Select the most appropriate ANTONYM of the given word.

Captivity
Ans X 1. Persistent

25 2. Accused

& 3. Libeny

25 4. Haemorrhage

Question 10 : 26433089114
Status - Not Answerad
Chosen Option © ==




Q.14 Select the most appropriate homonym to fill in the blank.

What of a movie is this?
Ang o 1. kind
25 2.can
25 3. keen

X 4. con

Cluestion 1D ; 26433088791
Status - Not Answerad
Chosen Option © --

Q.15 Select the most appropriate option to fill in the blank.

The Conjuring is not a movie for the of heart.

Ans 1 Taint

25 2. emational

25 3. strong

75 4. paint

Cuestion 1D : 26433084604
Status - Mot Answered
Chosen Oplion © ==
_

Comprehension:

In the following passage, some words have been deleted, Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Maga Council {UMC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costes of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
fo Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade Is in place to oppose the creation of new districts by the
Okramibobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved cut of the larger Senapati hill district — a2 with easing administrative access to
(5} areas from the district headquarters.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans. X 1.diminishing

5 2. upfront
25 3. varying

«" 4. escalating

Question 1D - 26433088621
Status © Not Answered
Chosen Oplion © ==




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Maga Council {UMC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fueland
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipuor. In 2011, there was initially a hundred-day- plus biockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramibobi Singh government. On 9 December it izsued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved cut of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2,
Ans X 1.vindicated

" 2. exacerbated
25 3. pacified
X 4. exceed

Question 1D : 26433088622
Siatus - Not Answerad
Chosen Option @ ==

Comprehengion:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Maga Council {UNC), has been in place since 1 November, This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life In Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramibobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapafi hill district — a2 with easing administrative access to
(] areas from the district headquarters. '

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.counter

25 2. acting
& 3. debilitating
25 4. befitting

Question 10 : 26433088623
Status - Not Answerad
Chosen Option © ==




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Maga Council {UMC), has been in place since 1 November. This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fueland
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipuor. In 2011, there was initially a hundred-day- plus biockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life in Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramibobi Singh government. On 9 December it izsued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved cut of the larger Senapati hill district — as with easing administrative access to
(5) areas from the district headquarters.

SubQuestion No : 19
.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.detail

X 2. lvely
o 3. gazette
* 4. live

Question 1D : 26433088624
Siatus - Not Answerad
Chosen Option & ==

Comprehengion:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The blockade of the national highways leading to the Manipur valley, called by the United
Maga Council {UNC), has been in place since 1 November, This has severely affected life in
the State, with shortages and (1) costs of essential supplies such as fuel and
food, even as demonetisation has (2) problems. Blockades like this are not new
to Manipur. In 2011, there was initially a hundred-day- plus blockade enforced by Kuki-led
groups, and countered later by Naga groups, which together had a (3) effect on
life In Manipur. This time the blockade is in place to oppose the creation of new districts by the
Okramibobi Singh government. On 9 December it issued a (4) notification for the
creation of seven new districts by bifurcating seven (of a total of nine) districts. This decision
had as much to do with long-pending demands — in particular, for a new Kuki-majority district
to be carved out of the larger Senapafi hill district — a2 with easing administrative access to
(] areas from the district headquarters. '

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans o 1. fartiung
25 2. offshore
25 3. outskirts
X 4. zecluded

Question 10 : 26433088625
Status - Not Answerad
Chosen Option © ==

Section - Part-D-Hind|




Q.1 #3 foemem & wuEmard | urden 9t % g3 oegf uem o)
Fuiea aTeg § wged WA wres o1 uet and -

Ans X 1. IO ATE HAE & R S
2 2. TR HE A S
75 4. T ¥ S @ TE

Question 1D : 26433080914
Status | Answered
Chosen Option ;2

Q.2 fafafes e | 3fe veae-
= g1y @rs g

Ans 21 W
X2 FM
> 3.1
X 4 HE

Q.3 Ymifea & fon waifirs fereeg
g Y

Ans X 1. AT
X 2. T
X 3 ®
o 4. FEEE

Q.4 gregiy Y IuS o0 uw v &1 e | | 1 W1 g A 8
Ans X 1. ETH I B TL-feTEn

X 2. @ Tt | offar 7 9@ - oa
5 3. 9 B & wE-aEn

Question 1D : 26433066821
Status | Answered
Chosen Option ;. 4

Cluestion 1D © 26433062281
Status : Answered
Chosen Option © 4

Question 10 : 264330109529
Status | Answered
Chosen Option ; 4




Q.5 3y ¥y Fel T 7

39 ar9g # wgea i o et e vow w1 frmfador 2 2
Ans o TR o R

K 2. i ae T s

2 3. 7 Ta T

X 4. i T fasr

Question 1D : 26433079231
Status | Answered
Chosen Oplion ; 4

Q.6 frea v 7t g ofim v fas @ =1-

mwm AN s wmm
Ans X 1.0

o 2. T o

X 39

Xoam

Question 10 - 26433085031
Status - Answered
Chosen Option : 2

a7 %m%mmﬁﬂmmﬁm%m.mmﬁaﬁa
fetaiem o arard v+ oo UF 92 T A AW B 1

Ans. X 1. W3 ¥ da
X 3. TH ¥ aHw
X 4. U@ w8 AewE®

Question 1D : 26433062805
Slatus © Answered
Chosen Option © 2

a8 Pofafea gee  fig gugsa wnfs o= 2-
S aresT BT

Ans  op 1 TTHTT 3® B
X 2. EEHE B
X 3. fema @
X 4. T fae

Question 1D - 26433065770
Status | Answered
Chosen Option : 1




Q.9 A S W o U= 1 UaigarEt §2
Ans € 1. dgu

7 2. 7
o 3
X 4. TivE
Question 10 : 26433092014
Status ; Answered
Chosen Option : 2
Q.10 frdw &1 o9 wa1 H Ty 4= w1 SR b, 9 ust TCGRIE]]
frea = =1 off afem o= g #ifem)
Ans 1 AT
* 2 &g
X o3 gE
& 4.WE0
Question 1D : 26433062618
Status : Answered
Chosen Option : 2
—_—
a1 PafafEad 3 ge o e-
ANS o 1. TET T S WY 318 U2
7 2. W W U WY g 1R
2 3. Tga o g A s 1S |
75 4. A T IF A1 516 92
Question 10 : 26433066842
Siatus . Answered
Chosen Option 1
=l

a.12 fag 7y fawedl § @ w19 W W e o § wEife v o1 gaiaars T8 87

Tafaert 9 el wsm= F g aftgs
Ans. o1 TG
5 2. geriEE
X 3 FEe
b

Question 1D

1 26433091340

Status | Answered
Chosen Oplion © 1




Q.13 i A Waerd €)
Twitea T & Ifaa vaiuarsEt W= o1 999 Fieg
VAR
X 2.
X 3.9
X 4. a@n

Question 1D - 26433079620
Status | Answered
Chosen Oplion © 1

Q.14 FafafEs oo § TEifes 95 & wH W 1ge & 99 998 9ugw e w1 90a
Fifire-
ag afafy Fm & qeus fag 21
Ans 21 FRmaEHE
X o Feme e
7 3 AER W
Xammwfnd

Question 1D : 26433070051
Status | Answered
Chosen Option ; 1

Q.15 ‘aFEuT X
ﬁwﬁﬁﬁm%mmmmmw:mm.
Ans X 1. 3t o & wrw g B
7 2. g o S gl
X 3. g E & ol g g
4. 71 3 E Ea el

Question 1D : 26433067035
Slatus © Answered
Chosen Option : 4




Q.16
Ans

Comprehension:

Frafafan mam # oo weal & 5o faa w51 By g e &1 weraa 9 fam s o ol
Hifory | UEE e & fog 9ud SO0 fae e @ 99 S

i dand B HE SR ¥E o A auH @
2 wwidiaEErRTcame sEad eE AR gEd H 3.

Tl 2| R @ o U & i we fel o @ 5 @ AR Y, 9ue g ot

4. e &1 ufrem 1| =g 3 9en 94 g F F s,
|

SubQuestion No : 16
frea = 1 F1 gfd & e gad Suges faew =1 999 #ifem
2 1w
X2 ER
25 5. 9B
o 4 i

Question 1D : 264330111077

Status | Answered

Chosen Option : 4

Comprehension:

Frafafas o # oo w2t w1 5o fim & Ry fwed v # e e ol

Hifony | U e & oy 9u9 900 Aeeg @ 997 F4)

SRt T g T TE 9 HA T
2. A1 & O SR TEdd ¢ dgd @ ©1 98 gad $ 3,
Tl 2| s @ onf U 2 fr wE el wd ) o @ AR oY, 9u fg ot
;ﬁ T o F1 OiET | =0 o0 98 94 g $99 #1.

|

SubQuestion No : 17

Q.17 frea v 2 91 gfd & fog wadt Suge fawen @1 90+ Fifg

Ans

X 1. 7Ef
v
X 3.9%
X 4 FH

Question 10 - 264330111078
Status - Answered

Chosen Option : 2




Comprehension:

Frafafan mam # oo weal & 5o faa w51 By g e &1 weraa 9 fam s o ol
Hifory | UEE e & fog 9ud SO0 fae e @ 99 S

i dand B HE SR ¥E o A auH @
2 wwidiaEErRTcame sEad eE AR gEd H 3.

Tl 2| R @ o U & i we fel o @ 5 @ AR Y, 9ue g ot

4. e &1 ufrem 1| =g 3 9en 94 g F F s,
|

SubQuestion No : 18
Q.18 frea == 3 F1 g & fow wad Suge faew =1 997 Fifag
Ans X 1 fRufd
o 2 TN
X 5T
K 4 WEH

Question 1D : 264330111079

Status | Answered

Chosen Option : 2

Comprehension:

Frafafas o # oo w2t w1 5o fim & Ry fwed v # e e ol

Hifony | U e & oy 9u9 900 Aeeg @ 997 F4)

SRt T g T TE 9 HA T
2. A1 & O SR TEdd ¢ dgd @ ©1 98 gad $ 3,
Tl 2| s @ onf U 2 fr wE el wd ) o @ AR oY, 9u fg ot
;ﬁ T o F1 OiET | =0 o0 98 94 g $99 #1.

|

SubQuestion No : 19
Q.19 frea w4 91 gfd & fog wadt Suges fawen @1 90+ Fif)
Ans o 1. T
X 2. wEmEa
X 3. fawam
K 4. SrEHTE

Question 10 - 264330111080
Status - Answered

Chosen Option @ 1




Q.20
Ans

Comprehension:

Frafafan mam # oo weal & 5o faa w51 By g e &1 weraa 9 fam s o ol
Hifory | UEE e & fog 9ud SO0 fae e @ 99 S

i dand B HE SR ¥E o A auH @

2 wwidiaEErRTcame sEad eE AR gEd H 3.
Tl 2| R @ o U & i we fel o @ 5 @ AR Y, 9ue g ot
4. e &1 ufrem 1| =g 3 9en 94 g F F s,

il

SubQuestion No : 20
frea == 5 F1 g & e oad Suges faewn =1 997 #ifem
X 1.1m
o 2. T
X 3. fowm
X 4 |H

Cluestion 1D : 264330111081
Status | Answered
Chosen Option : 2
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Candidate Name

Venue Name iON Digital Zone iDZ Kanti
Exam Date 11/01/2023

Exam Time 19:00 AM - 10:00 AM

Subject [{Constable GD Examination 2022

Section : Part-A-General Intelligence and Reasoning

Q.1 Six people U, V, W, X, ¥, and Z are sifting in a circle facing opposite to the centre. U is
sitting third to the right of Y. W iz sitting to the immediate left of U. W is sitting third to
the left of V. Z is not sitting next to U. Who is sitting between W and ¥'?

Ans 12
X 2x
* 3 U
b Y

Question 1D - 264330114206
Status - Answered
Chosen Option - 1

Q.2 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 kind
2 kite
3 knit
4 king
5 kindle

Ans #1.15423
X 214253
X 3.15243
X 414523

Quesiion 1D - 26433069300
Status - Answered
Chosen Option - 1

Q.3 Which letter-cluster will replace the guestion mark (7) to complete the given series?
XCMQ, YDNR, 7, AFPT, BGQU

Anz X 1. ZEOR
X 2 ZEPS
2 3. ZEUS
o 4. ZEOS

Question 1D - 26433067041
Status - Answered
Chosen Option - 4




Q.4 Three Statements are given followed by Three conclusions numbered I, Il and Il
Aszuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically followis) from the
statements.

Statements:

All bags are rubber.

Some rubber are chairs.
All chairs are tables.
Conclusions:

. Some rubber are bags.
Il. Some chairs are rubber.
lll. Some chairs are tables.

Ans X 1.Both conclusions | and || follow.
7% 2. Both conclusions | and || follow!
" 2. All conclusions foliow.,

75 4. Both conclusions |1 and |11 foBow.

Question 1D - 26433074639
Status - Answered
Chosen Option - 3

Q.5 Which of the mathematical signs should be interchanged in the below equation to
make it mathematically correct?
144 - 12+ 1826+ 24 =96

Ans g 1 -and-~
5 2 -and =
M 3 xand -
75 4. -and +

Question 1D - 264330117489
Status - Answered
Chosen Option - 1

Q.6 'A+ B’ means 'B is the brother of &'
‘A —B' means ‘B is the sister of A
‘A % B means 'B is the daughter of A’
‘A & B' means ‘B is the wife of A’
IfA&B"%C+D-E, then how is E related to A7

Ans X 1. Mother
2. Wife
" 3. Daughter
75 4. Sister

Question ID - 26433068529
Status - Answered
Chosen Option - 3

Q.7 Seven friends are sitting around a circular table facing the centre. T is an immediate
neighbour of K and L. 5 is sitting immediate right of K. W is an immediate neighbour
of U and M. Who is sitting third to the left of K7

Ans o 1W
XM
Xau
X AT

Question 1D - 26433080433
Status - Answered
Chosen Option - 1




Q.8 Which number will replace the question mark {?) in the following series?
6, 24, 60, 120, 7

Ans X 1.150
¥ 2180
X 3.135
o 4. 210

Question 1D - 26433067838
Status - Answered
Chosen Option : 4

opposite the face showing *2 *.

Ans X 1.5
Xz
X 3.4
43

Q8 Three different positions of the same dice are shown. Find the number on the face

Question 1D - 26433090067
Status - Answered
Chosen Option - 4




@10 Select the figure that will come next in the following series.

Ans

Question 1D - 26433078960
Status - Answered
Chosen Option © 3

Q.11 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of lettersinumber of

consonantsivowels in the word.)
Kite : Claw :: Horse : 7

Ans X 1. Strong
75 2. Fast
75 3. Power

" 4. Hoof

Question 1D - 26433069578
Status - Answered
Chosen Option - 4

Q.12 In a certain code language,"GHOST' is written as "JCRNW" and ‘'FIRED' is written as
‘IDUZG". How will ‘RIFLE' be written in the same code language?

Ans /1 UDIGH
X 2. VEJFH
3. PDBGH
X 4. UIDBH

Question ID - 26433068145
Status - Answered
Chosen Option - 1




Q.13 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.
PAE : HCQ :: ESH: KUF :: FDN : ?

Ans f 1.QFG
X 2 KFG
X 3. KGP
7 4. PFH

Question 1D - 26433057713
Status - Answered
Chosen Option - 1

Q.14 Which letter-cluster will replace the question mark (7) to complete the given series?
CWKE, SHIG, UFGI, 7, YBCM

Ans X 1 WCFM

X 2. VEFL
75 3. VDEN
o 4. WDEK
Question 1D - 26433068036
Status - Answered
Chosen Option - 4

Q.15 Select the correct mirror image of the given combination when the mirvor is placed

at P as shown below,
P

GCPUWK |

™o AWUQDD
*»>CCbN MK
> AMUdI D
“*AWNY9I D

Question 1D - 26433081696
Status - Answered

Chosen Option - 1

Q.16 In a certain code language, 'SLOWLY" is written as "“TMNXMZ® and "FRIEND’ is written
as " GEHDOE'. How will 'BORING’ be written in that language?

Ans X 1. CPSNOH
o 2 CNSHOH
X 3. CNSJOH
X 4. CNSHOF

Question 1D - 26433081760
Status - Answered

Chosen Option - 2




Q.17 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed)

Ans

4

Question 1D : 26433069331
Status : Answered
Chosen Option - 2

Q.18 Which of the following numbers will replace the question mark (?) in the given series?
62498, 61874, 7, 60644, 60038, 59438
Ans o 1.61256
2 2. 61656
75 3. 60544
75 4. 80448

Question 1D - 26433076751
Status - Answered
Chosen Option - 1




Q.19 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(11, 78, 15)
(12, 90, 18)

Ans 2 1.(12.89,17)
X 211, 9, 19)
o 3.(13, 96, 19)
25 4,010, 54, 17)

Question 1D - 26433076541
Status - Answered
Chosen Option - 1

Q.20 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
10*18*19*2*1* 17
Ans X 1% + %+
of 2o x - =
Kadm+ - - =
K+ 4x-=

Question ID - 26433052881
Status - Answered
Chosen Option - 2

Section : Part-B-General Knowledge and General awareness

Q.1 Government of India has approved a new Central Sector Scheme entitled “"MNational
Beekeeping & Honey Mission (NBHM)"” which iz associated to revolution.

Ans X 1. savoury
' 2. swest
7% 3. honey
75 4, golden

Question 1D - 264330116185
Status - Answered
Chosen Option © 3

Q.2 are a narrow belt of high altitude {above 12,000 m} westerly winds in the
troposphere, Their speed varies from about 110 kmvh in summer to about 184 km/h in
winter.

Ans o 1. Jet Streams
75 2 Whirtwind
7 3. Derecho
7% 4. Hurricane

Question 1D - 264330115978
Status - Not Answered
Chosen Option © ==




Q.3 After independence, India launched its First fiver year plan in .

Ans X 1 1352
X 2.1953
X 3.1950
o 4 1351

Question 1D - 264330116134
Status - Answered
Chosen Option - 1

Q.4 Which Indian dancer among the following was the Youngest recipient of Padma

Vibhushan in 20037
Ans X 1. Uday Shankar

o' Z. Sonal Mansingh
75 3. Pandit Birju Maharaj
75 4. Kelucharan Mohapatra

Question 1D - 264330115839
Status - Not Answered
Chosen Option © ==

Q.53 What is the chemical formula of Calcium Carbonate?
Ans X 1.CaS0y

" 2. CaCOy

X 3.CaCOs

75 4. CaD

Question 1D - 264330115166
Status - Answered
Chosen Option - 3

Q.6 Which vitamin iz also known as Thiamin?
Ans X 1. Vitamin B2

25 2. Vitamin B3
' 3. Vitamin B1
%4 Vitamin Bi2

Question 1D - 264330115222
Status - Answered
Chosen Option : 3

Q.7 Who took oath as the Governor of Meghalaya in October 20227
Ans X 1.Banwarilal Purohit

X 2. Tathagata Roy
2 3. Satya Pal Malik
" 4 B. O Mishra

Question 1D - 264330114979
Status - Answered
Chosen Option - 2




Q.8 Gandhi-lrwin pact was signed in which year?
Ans. o 1. 1831
* 21935
7 31929
> 41833

Question 1D - 264330115685
Status - Answered
Chosen Option - 1

Q9 o gue SEEy, i Rt ke Rl ad & e e 9 e wit! it tee e
[ waltE g 2, FEAT 2|

Ans 1. O TOE

X 2 TR

* 3. Srimiers aee

X 4. UeiTa e

Cuesfion 1D : 264330115276

. Not Attempted and
SIals - prarked For Review

Chosen Option © ==

Q.10 The last article of the Constitution of India has been given the number . (as on

May 2022).
Ans X 1380
75 2. 390
o 3.395
X4 385

Question 1D - 264330115611
Status - Answered

Chosen Option : 3

Q.11 As of November 2022, who is the Union Minister for Education in India?
Ans & 1. Dharmendra Pradhan
X 2. Mansukh Mandaviya
75 3. Anurag Thakur

5 4. Kiren Rijiju

Question 1D - 264330114931
Status - Answered

Chosen Option - 1

Q.12 Which union territory has the highest sex ratio as per the 2011 Census?

Ans X 1. Lakshwadesp
o 2. Puduchemy
& 3. Daman & Diu
75 4. Chandigarh

Question 1D - 264330116048
Status - Answered
Chosen Option - 1




Q13 is celebrated as Gujarati New Year in India.
Ans 1. Besiu\Varas

* 2 Vishu

-3, Losar

75 4. Losoong

Question 1D - 264330115107
Status - Answered
Chosen Option - 2

Q.14 Primary raw material for sugar industry is :
Ans X 1.chemical swestners

75 2 sweet potato
% 3. apple

o 4. sugar cans

Question 1D - 264330115395
Status - Answered
Chosen Option : 4

Q.15 Which among the following classical dance forms was introduced in the 16th century
by Vaishnava saint Mahapurusha Sankaradeva?

Ans X 1. Kuchipudi
" 2. Sattriya
7 3. Odissi
25 4. Manipuri

Question 1D - 264330115062
Status - Not Answered

Chosen Option - ==

Q.16 In which city iz the Mohun Bagan Athletic club situated?
Ans X 1. Jaipur

o 2. Holkata

25 3. Lucknow

7% 4. Bulandshahr

Question 1D - 26433092324
Status - Not Answered

Chosen Option © ==

Q.17 Who hosted the FIFA World Cup 20227
Ans X 1. Brazl

o 2. Qatar

75 3. Spain

XX 4. Germany

Question 1D - 264330115926
Status - Answered

Chosen Option - 2




Q.18 Removal of president of the country from the office is known as
Ans. " 1. Impeachment

25 2. Termination of Services
7% 3. Resignation
75 4. Voluntary Retirement from services

Question 1D - 264330115666
Status - Answered
Chosen Option - 1

Q.19 Who among the following Greek rulers sent Megasthenes to the court of
Chandragupta Maurya?
Ans o 1. Seleucus Nicator

25 2. Amyntas Il
25 3. Amyntas M
¥ 4. Philiip I

Question 1D - 26433090574
Status - Answered
Chosen Option - 2

Q.20 T 7 R (right of inheritance) foF ofiY o wTem &7
Ans X 1. 3FOEE HH

Question 1D - 264330115523
Status - Answered
Chosen Option - 3

Section : Part-C-Elementary Mathematics

Q.1 Manish bought an air conditioner for Rs 46,875, its value is depreciating at the rate of
8% yearly. What will be the price of the air conditioner after 3 years?

Ans X 1 Rs33788
7 2. Rs.32.245
o 3. Rs.36,50
2 4. Rs.35602

Question 1D - 26433080339
Status - Answered
Chosen Option - 4

Q.2 v fed Uge fd- W 6 Ue H 240 kms, ZH{ 37 W 8 U # 360 kms R Ty RA w6
g%}:ﬁ‘tsumﬁ‘rg&qﬁm%la%ﬁﬂmm{ﬂﬁduﬁlﬁhﬁm;ﬂwﬂ
Ans g 1. 525 kms
X 2.50.5kms
2 351 kms
& 4 48 kms

Questicn 1D - 264330116683
Status - Answered
Chosen Option - 3




Q.3 An increase of 23 percent in the price of onions enables a woman to buy 3 kg less for
Rs. 200. The increased price of onions per kg is:

Ans X 1.Rs Sperkg
75 2. Rs 8perkg
o 3. Rs. 10 perkg
7 4. Rs. 15 perkg

Question 1D - 264330116789
Status - Answered
Chosen Option © 3

Q.4 A person travels in a car for 600 km at an average speed of 30 km/h and 100 km at 100
kmv'h, and finally reaches his destination by travelling 50 km at a speed of 23 km/h.
Determine the average speed during the whole journey.

Ans o 1. 50 km'h
7 2. 75 kmih
X 3.58.33 km/h
X 4. 25 kmih

Question 1D - 26433071334
Status - Answered
Chosen Option - 1

Q.5 There are 90 female members and 80 male members in a club. If the average age of
female members is 35 years, and the average age of male members is 43 years, then
find the average age (in years) of the whole club?

Ans 139
X 23
7340
¥ 447

Question 1D - 26433082705
Status - Answered
Chosen Option - 1

Q.6 The difference between the two numbers is 15% of their sum. Find the ratio of the
smaller number to the larger number.

Ans
x1 13
17
x2 M
13
P
23
x4 23
17

Question 1D - 26433080366
Status - Answered
Chosen Option : 3




Q.7 The radius of a cone is 5 cm and its slant height is 16 cm. it's total surface area (in

cm?) will be:

Ans #1330
& 2 300
2 3.310
> 4320

Question 1D - 26433085772
Status - Answered
Chosen Option - 1

Q.8 Ruby bought 20 buttons for Rs.1. How many buttons she must sell for Rs.1 in order to
get a profit of 23%7
Ans X 1.15

> 247
X314
o 416

Question 1D - 26433080304
Status - Answered
Chosen Option - 4

Q% 15y proporiion. the produce of the 1 and 4 term is 70 and that of 2 apd #4 tem s 352 The value of T is
Ans X 1.21

» 235

w3

o 420

Question 1D - 26433074931
Status - Answered
Chosen Option - 4

Q.10 A and B together can do a piece of the work in 50 hours, B and C together can do the
same work in 73 hours and A and C together can do the same in 25 hours. Find the
time in which A, B, and C together will complete the task.

Ans X 1.400/11 hours
2. 150/11 hiours
2 3131111 hours
o 4. 30011 hours

Question 1D - 264330116869
Status - Answered
Chosen Option - 4

Q.11 Find the difference between the greatest and the smallest 4-digit numbers exactly
divisible by 36 and 48.

Ans #1538
X 2. 8892
X 3.8298
X 4.8982

Question 1D - 264330116648
Status - Answered
Chosen Option - 1




Q.12 Ifmachine A and B can produce 1100 units in 9 h and 12 h respectively. In how many
hours can machine A and B working together at these constant rates produce 1100

units?
Ao g
7
x2 37
7
xa 39
7
?(4.%
7

Question 1D : 26433074312

Status - Answered

Chosen Option - 1

Q.13 Robin travels one<fourth of the distance at 20 kmvh, another one-fourth at 10 kmt'h, and
the remaining distance at B0 kmv/'h. Find Robin's average speed for the entire distance

{correct to 2 decimal places)?
Ans X 1.25kmih

o 2. 22,86 kmif

X 3,20 kmih

X 4. 18.2 kmvh

Question 1D : 26433065292

Status - Answered

Chosen Option - 2

Q.14 The marked price of an item was Rs. 100000, but the shopkeeper offered a double
discount of 20 percent and 10 percent. At what price did he finally sell the item?

Ans o 1. Rs 72000
7 2. Rs. B00OO
7 3. Rs. 70000
¥ 4. Rs, 82000

Cueston 1D : 264330116754

Status - Answered

Chosen Option - 1

Q.15 7 2 395 4 303 is divided by 9, then the remainder is:
Ans 1.2

X224

X a6

41

Question 1D : 26433079904

Status - Answered

Chosen Option - 1




Q.16 A chair is bought for ¥800 and sold for 1,100. Find the gain percentage.
Ans
X 1 40%

X2 30%
v3 37.5%
X4 32.3%

Question 1D - 26433074276
Status - Answered
Chosen Option - 3

QAT The corved sirfice aren of eight eirening eylisder of haight 14 cm s 100 e Wit fs the base diameter of tlhe cviinder?
=N S E ]
Ans X 1.27cm
XM 2Z4cm
o 3. 25cm
K 4268cm

Question 1D - 26433079779
Status - Answered
Chosen Option - 3

Q.18 The marked price on an item was Rs 2000/- but the shopkeeper offered a discount of
20 percent. How much did he finally sell the item for?

Ans X 1 Rs.1400
X 2.Rs. 1200
X 3.Rs. 1500
o 4. Rs. 1800

Cuestion 1D : 264330116715
Status - Answered
Chosen Option : 4

Q.19 In how many years will 800 amount to $926.10 at 10% per annum, compounded half-
yearly?
Ans X 1.3

W22
325

o415

Question 1D - 26433082403
Status - Answered
Chosen Option - 1

Q20 Ifa+b=25and a—b =7, then determine the mean proportion of a and b.
Ans 112

> 245
> 3.6
» 40

Question 1D - 26433080114
Status - Answered
Chosen Option - 1

Section : Part-D-English




Q.1 Select the most appropriate ANTONYM of the given word.

Compassionate
Ans X 1. Likeable

X 2. Merciful
o 3. Crue|

7% 4. Fashionable

Question 1D - 26433072211
Status - Answered
Chosen Option - 3

Q.2 Select the most appropriate synonym for the underlined word in the given sentence.

An oxygen cylinder is used to deliver oxygen through the patient's nasal orifice.
Ans X 1. origin
2 2. omate
75 3. ordained

o 4. opening

Question 1D - 26433073754
Status - Answered
Chosen Option - 2

Q.3 Select the most appropriate ANTONYM of the given word.
Feeble
Ans X 1. Anxious
25 2. Weak
" 3. Sturdy
7 4. Curious

Question ID - 26433073918
Status - Answered
Chosen Option - 3

Q.4 The sentence below iz divided into four segments. Select the option that has an error
of tense.
| has been [ visiting my / family and relatives / during the winter vacation.

Ans X 1. during the winter vacation
7 2. family and relatives
25 3. visiting my
" 4 | has been

Question 1D - 26433092945
Status - Answered
Chosen Option - 4




Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
My uncle has an extremely large bungalow which has six bedrooms, five bathrooms
and four living rooms.

Ans & 1. enomous
25 2. meagre
25 3. great

75 4. oversize

Question 1D - 26433086460
Status - Answered
Chosen Option - 1

QL6 Select the most appropriate meaning of the underlined idiom in the given sentence.
Siraj-ud Daula's defeat can be attributed to a snake in the grass.
Ans X 1. A devoted attendant
X 2. A disloyal soldier
" 3. A deceltiul person

5 4. A coiled serpent

Question 1D - 26433071996
Status - Answered
Chosen Option - 3

Q.7 Select the most appropriate option to fill in the blank.

He is an absolutely man.
Ans X 1.chased

" 2. chasie
25 3. chest
75 4. crazed

CQuestion 1D - 26433090388
Status - Answered
Chosen Option - 2

Q.8 Select the most appropriate ANTONYM of the bracketed word to fill in the blank.
The medicine was so [sweet) that a man had to choose sugar along with it.
Ans X 1.rancid
' 2. sour
2 3 shale
75 4. fetid

Question 1D - 26433060720
Status - Answered
Chosen Option : 4

Q.9 Select the option in which all the words are spelt correctly.
Ans 1. The sage preached that we are accountabls to God in this life:

75 2. The sage preached that we are akountable to God in this life.
X 3. The sage preached that we are accuuntable to God in this life.
75 4. The sage preached that we are acountable to God in this life.

Question 1D - 26433072287
Status - Answered
Chosen Option - 1




Q.10 Select the most appropriate option to fill in the blank.

He indeed is intelligent who this and succeeds in making all work truly great.
Ans X 1.was noficed

& 2. noticed
o 3. notices

75 4. noficing

Question 1D - 26433088957
Status - Answered
Chosen Option - 3

Q.11 Select the INCORRECTLY spett word.
Ans 1. Skulptor

75 2. Miraculous

25 3. Vision

75 4. Bucceed

Question 1D - 26433073733
Status - Answered
Chosen Option - 1

Q.12 Select the most appropriate synonym of the given word.

Ideal
Ans o 1. Excellent
X 2 Hefty
2 3. Bad
X 4. Intact

Question 1D - 26433088925
Status - Answered
Chosen Option - 4

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution'.

| visited the hospital to enguire about eyes surgery.
Ans o 1. enquire about eye surgery

Xz enquire for eyes surgerny
25 3. enquired about eve surgery
75 4. Mo substitution

Question 1D - 26433093072
Status - Answered
Chosen Option - 2

.14 Select the most appropriate meaning of the given idiom.
To call in question
Ans X 1. Show indifference
75 2. Take a resolute stand
" 3. Chaflenge
75 4. Dislike the arangement

Question 1D - 26433073874
Status - Not Answered

Chosen Option © ==




Q.15 Complete the sentence using correct pair of words from the options given.

My brother apples during his fast.
Ans g 1. ate; eight

X 2. eight; eight

75 3. ale; ate

75 4. eight; ate

Cuestion 1D : 26433088870
Status - Answered
Chosen Option - 1

Comprehension:

In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

One certain benefit of online communication either through email or even communicating
through WhatsApp nowadays is that thereis a (1) dependence on paper. It is said
that to make a ton of paper 17 trees have to be cut down. With the already existing demand
for paper to meet (2) needs, it would be horrendous fo keep (3) the demand for
paper worldwide, Online communication is a boon as many documents are now sent by mail
through PDF, Microscft Word or the JPEG format. This means that there is certainly a (4}

in the use of paper due to online communication. Many pecpie read online
newspapers nowadays, which means there is a decline in the number of people buying offfine
versions of (3)

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.resiless

7 2. crest
o 2. less
75 4. dress
Cuestion 1D : 26433088749
Status - Answered
Chosen Option - 3
Comprehension:

In the following passage, some words have been deleled. Read the passage carefully and
select the most appropriate option to fill in-each blank.

One certain benefit of online communication either throwgh email or even communicating
through WhatsApp nowadays is that there is a {1} dependence on paper. It is said
that to make a ton of paper 17 frees have to be cut down. With the already existing demand
for paper to meet (2) needs, it would be horrendous o keep (3) the demand for
paper worldwide, Online communication iz a boon as many documents are now sent by mail
fhrough PDF, Microscft Word or the JPEG format. This means that there is certainly a (4)

in the use of paper due fo online communication. Many pecple read online
newspapers nowadays, which means there is a decline in the number of people buying offline
versions of (3)

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. controversial

' 2 vanous
75 3. rare
2% 4. handle

Question 1D - 26433088750
Status - Answered
Chosen Option - 2




Comprehension:

In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

One certain benefit of online communication either throwgh email or even communicating
through WhatsApp nowadays is that there is a (1) dependence on paper. It is said
that to make a ton of paper 17 trees have to be cut down. With the already existing demand
for paper to meet {2) neads, it would be horrendous fo keep (3) the demand for
paper worldwide. Online communication iz a boon as many documents are now sent by mail
through PDF, Microsoft Word or the JPEG format. Thiz means that there is certainly a {4)

in the use of paper due to online communication. Many pecple read onlineg
newspapers nowadays, which means there is a decline in the number of people buying offline
versions of (3)

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Anz . X 1, planning

2. increasing
75 3. contriving
X 4. depriving

Question 1D - 26433088751
Status - Answered
Chosen Option - 4

Comprehension:

In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

One certain benefit of online communication either through email or even communicating
through WhatsApp nowadays is that there is a (1) dependence on paper. It is said
that to make a ton of paper 17 trees have to be cut down. With the already existing demand
for paper to meei (2) neads, it would be horrendous fo keep (3) ___ the demand for
paper worldwide. Online communication iz a boon as many documents are now sent by mail
through PDF, Microsoft Word or the JPEG format. This means that there is certainly a (4}

in the use of paper due fo online communication. Many pecple read online
newspapers nowadays, which means there is a decline in the number of people buying offline
versions of (3)

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1. traction

o 2. reduction
7 3. induction
7% 4, gumption

Question 1D - 26433088752
Status - Answered
Chosen Option - 2




Comprehension:

In the following passage, some words have been delefed. Read the passage carefully and
select the most appropriate option to fill in each blank.

One certain benefit of online communication either throwgh email or even communicating
through WhatsApp nowadays is that there is a (1) dependence on paper. It is said
that to make a ton of paper 17 trees have to be cut down. With the already existing demand
for paper to meet {2) neads, it would be horrendous fo keep (3) the demand for
paper worldwide. Online communication iz a boon as many documents are now sent by mail
through PDF, Microsoft Word or the JPEG format. Thiz means that there is certainly a {4)

in the use of paper due to online communication. Many pecple read onlineg
newspapers nowadays, which means there is a decline in the number of people buying offline
versions of (3)

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 3.
Ans X 1, fliers

75 2. magazines
o 1. newspapears

7 4. canvas

Question 1D - 26433088753
Status - Answered
Chosen Option - 3

Section : Part-D-Hindi

Q1 mﬁﬂﬁ%ﬁlﬁamﬁmﬁmmﬁl
Ans 1. aiied

X 2 TR

X 3 frdeg

X 4 wHfET

Question 1D - 26433069992
Status - Not Answered
Chosen Option © ==

a2 FefHes e ¥ i o 2e w A § 359 39gs = o1 999 Fifeml
i & & # 3 ux &1 3w 8 & w9

Ans X 1 T
X 2
X 3. F8
o 4 5

Question ID - 26433066868
Status - Not Answered
Chosen Option © ==

Q3 T A U 39 AN i e eiraana-t g1 e 7 9 S 9 1w T e
TaiaaTEt e 78 gl

Ans o 1T
7€ 2. &gom
X 2. fampt
X 4 g

Question 1D - 26433069737
Status - Not Answered
Chosen Option © ==




Q4 g %t warlt vad a0 ot aa 75 )

39 farerea &1 0= o =it AT H YEifehd Tieg o1 TUigErE! Te e gl
Ans ¥ 1 fiE
X 2
o 3. A
XK 4. T
Question |D - 26433091341
Status - Not Answered
Chosen Option © ==
Q.5 ¢ INIT #T giEgl & g avear ¥ g arde e -
Ans X 1. TNN @ EET
o 2 T
X 3. EgtaEE
7 4 wieast
Cuestion 1D : 26433062224
Status - Not Answered
Chosen Option - ==
Q.6 wt g AT & T & o e we B-
Ans X 1. @R
X 2w
o 3. T
% 4. TR
Question |0 : 26433065864
Status : Not Answered
Chosen Option © ==
a7 Fmfafasd & sgs areg s 87
Ans 1 i g T adt gl
X 2. 39 S TS Wl Ee |
X 3. THURT wga G e gl
X 4 Y AL W
Question ID : 26433066989
Status - Not Answered
Chosen Option © ==
Qs Wﬁﬁaﬁﬁmmﬁmmﬁwﬁmrwmim'mmmmﬁw
Ans X 1. BT @ dgEr
o 2. 3T O & ey e
3. 3 ST @ S W
25 4. 30 O @i sie
Question 1D : 26433080915
Status : Not Answered

Chosen Option :




Q.9 o fawedl § & sy arey sifew)
Ans X 1. FE@I TE el gl

o 2 TES T AR B

X 3. T8 GO T SO I B

X 4. TE & AIeE o Al

Question 1D ; 26433063035
Status - Not Answered
Chosen Option © ==
Q.10 FRER = 7 oW T gm?
Ans X 1 3%
X 2. %EF
> 3 5T
o & TET
Question ID : 26433067090
Status - Not Answered
Chosen Option © ==
Q.1 Fmfafay o & g ymd o s IR &7
T feet & wita Ag # gty TATEEN
Ans X 1 WHIEEH
X 2. s fRw @
o 3. TR wEi
> 4TI
Question 1D : 26433063025
Status : Not Answered
Chosen Option © ==
Q.12 HeEl AR 3% e w FofafEm g d s mgmadi &7
Ans X 1. ETE F OO @6 TeE
X 2 27 o O g e e
o 3. FEiT SRS H e 8
X 4.8 &7 = HeArLTeE TG O i
Question ID : 26433062559
Status - Not Answered
Chosen Option © ==
Q.13 7aF ad T AW 91 s tar =8 g
e AT B uge o, TR s G-t & a8 ad s e
Ans X 1.7 @ o w1E | o T @ ol ' - aw
o 2. T T o 39 wE o TR @ ond gare
¥ 3. T w1 o ow Ay o T @ anf e
X 4. 7w o ol TR HN THT T 0 FoEE
Question 1D ; 26433079232
Status : Not Answered

Chosen Option :




& form W A we
T

Ans 1 FEFSETCLI
K 295

X 3. TERH

p AR

Question 1D - 26433062806
Status - Not Answered
Chosen Option © ==

Q.15 ﬁmw#mmmwa

SubQuestion No : 16

Ans ¢ 1, T[T
o 2 VAT
% 3. TnaE
X 4 im

Q.16 frae v 1 91 gfd & o wad guge fawes @ 909 Fifom)

T AT &
Ans g 1. WIF SEE T
x 2 fega
X 3 mE A
X 4. T 5
Question ID - 26433065771
Status : Not Answered
Chosen Option © ==
Comprehension:
ﬁqﬁlﬁﬁmﬁ?maﬂsﬂﬁmw%l Ty el il e 4§ e e @ i
Ty | Wi S 9 T e SUgEe fawed o T0F o
T et sy & S ST W 1. FOE, WaEm A sa e @
G EE i st - o ﬁﬁfﬁ%iggﬁﬂaﬁﬁ‘ﬂﬁa HH TEd ¥ o
ot et o IR H 4. et W o & [ BHRI HieH B8 S
TG WS O E I el o g 34 fe et i 5, FRE

Question 1D - 264330111083
Status - Not Answered
Chosen Option © ==




Comprehension:
ﬁuﬁsﬁmﬁ@zﬁﬁaﬁﬁaﬁmw%l o T e 1 wemm & fam = =
Wil T o e SuEs ey = 900 w1

R o et amg-a & T eI WG 1. T &, 0w A g e @t
mﬁaﬂrﬁgmgﬁz ﬁﬁfﬁ%lg%ﬁﬁaﬁﬁ‘—raﬁa ETGEGHEARSC]
ot forslt & wrafeT 7 4, Hied T U9 € b g SrEig S B
G| SFHIE TR Y & e o g1 56 e i s, TR El

SubCuestion No : 17

Q17 fiem v 2 91 O % fog Wt Suges fAwea o1 90 St
Ans g 1. 3w

X 2.0

X 3.5

7 4. TR

Question 1D - 264330111084
Status - Not Answered
Chosen Option © ==

Comprehension:
ﬁuﬁﬁﬁmﬁ?mﬁﬁﬁmw%lmmﬁmaﬁmﬂﬁﬁmﬁgﬁ
i oE T T g fawen o T o

T it S & T SR W 1 T E mEE Hsg A w
mﬁaﬁa@mg@z %‘Is‘lﬁf%ng’%aﬁ%aﬁﬁ‘—raﬁa ETGEGHEAREE
ot forrelt & SrEfaT H 4. A W U@ ¢ b g orEi SE B
TG SHIE TR Y ) e ol g1 56 oA o i s, TR El

SubQuestion No : 18
Q.18 frgm =i 3 F gfd & fore wad Suge fawen &1 909 Fife)
Ans . p 1 TOIET

7 2. \Ema

X 3. fasfm

2 4 andEm

Question 1D - 264330111085
Status - Not Answered
Chosen Option © ==

Comprehension:

Frafafan metw # g weal @) go w8 Ry T feed @ werden ¥ fraa w @ O
Ty | T T 3 o S SUgae el © 90T o

At Famsm e a1ETi_ 2 FWE Wam HsdRT®

T @1 Iged $S 2. HE B T T d s A # 3 I TE B T
ﬁﬁiﬁﬁﬁﬁﬁg?at %ﬁfﬁm@ﬁ?ﬁmmﬁ%ﬁm

| SR 08 T e i 5| 56 e i s
SubQuestion No : 19
Q.19 firea T 4 F1 9fd & fore oes ougw e = 99 ifem)
Ans x| IS
7 2. e
7 3. faafem
o & TiEfEE

Question 1D - 264330111086
Status - Not Answered
Chosen Option © ==




Q.20
Ans

Comprehension:

ﬁuﬁ@ﬁmﬁ?maﬁﬁaﬁmw%l fan e 1 wem @ fea e @t ol
Dol Hd® o e U feed @ a0 B

Tt s & ST s W 1. T &, 0w A g e @t
mﬁaﬂrﬁgmwz ﬁﬁfﬁ%ig%ﬁﬁaﬁﬁ‘—raﬁa ETGEGHEARSC]
ot forslt & wrafeT 7 4, Hied §T U9 ¢ b SN SrEig B B
G| SFHIE TR Y & e o g1 56 e i s, TR El

SubQuestion No : 20
e v 5 %1 gfd & for wast Suges faee =1 9= Fifem)
¢ 1. oemm
7 2. HEtm
o 3. TEE
X 4 uEfE

Question 1D - 264330111087
Status - Not Answered
Chosen Option © ==




